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OBJECTIVE SECTION AS PER NEW PAPER SCHEME

Sets Fill In The Blanks

1.For given set Aand Bif A C Band A # Bthenset Ais ...of set B.

o Watch Video Solution

2. The numbers of proper subset of set A having n elements are.......

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6W7ChywsNUos
https://dl.doubtnut.com/l/_iwQ2bmlrbclD
https://dl.doubtnut.com/l/_GKf8kjbN219F

3. Numbers of elements in power set of the given set

A={xeN|z*<25}are....

° Watch Video Solution

4.....is the interval fromof theset {x e R | — 5 <x < T}

° Watch Video Solution

5.In ..way one can represent null set ¢ as property method.

° Watch Video Solution

6. A ={x| x is the letter of the word FELLOW} B ={x| is the letter of the word

FLOW} then both sets are connected with ... operation .

° Watch Video Solution



https://dl.doubtnut.com/l/_GKf8kjbN219F
https://dl.doubtnut.com/l/_RDIOOpMGi23d
https://dl.doubtnut.com/l/_uQXh3dOzW0n2
https://dl.doubtnut.com/l/_zYG6IvzKMo9r
https://dl.doubtnut.com/l/_TR7Qvc8r3UBj

7. If A={x|x is the multiple of 4} and B = {x|x is the multiple of 6} then A

o Watch Video Solution

8.IfAC BthenANB=..........

o Watch Video Solution

9.If AU B = Athen ...

o Watch Video Solution

10.1f n(A)=5,n(B)=8 and A C B then n(A U B)=......

o Watch Video Solution



https://dl.doubtnut.com/l/_TR7Qvc8r3UBj
https://dl.doubtnut.com/l/_keJlxqvcJn4u
https://dl.doubtnut.com/l/_xovNEy1uU7z1
https://dl.doubtnut.com/l/_fwTGtFkHhrK7

M.Ifn(A)=4,n(B)=9and A C B then n(A N B)=....

o Watch Video Solution

12.If Np = {px | x € N} then N3N N5 = ....

o Watch Video Solution

13.For non null sets Aand B, AN (AN B) '=....

o Watch Video Solution

14. ¢ is null set and for given non null sets Aand BA N (AU B) = ..

o Watch Video Solution

15. For the non null sets AandB, AU (AN B)’ =....


https://dl.doubtnut.com/l/_GrDLInLGvxqz
https://dl.doubtnut.com/l/_axAyEuISLhKl
https://dl.doubtnut.com/l/_mTuHN3shSjJ1
https://dl.doubtnut.com/l/_AW8m21lOmOwL
https://dl.doubtnut.com/l/_imVyBitAzVaP

° Watch Video Solution

16.1f A C BthenA-B=....

° Watch Video Solution

17. For non null sete Aand B ,A N (B-A) = ...

° Watch Video Solution

18. For non null sets A and B if n(A) =16,n(B) = 14 , n(A U B) = 25 then

° Watch Video Solution

19. For non null sets A and B if n(AUB) = 36 ,n(A - B )= 15 and

n(A N B) = 16 then n(B) = ...



https://dl.doubtnut.com/l/_imVyBitAzVaP
https://dl.doubtnut.com/l/_Ns2w8ogc0CPY
https://dl.doubtnut.com/l/_rzwYHfIPp2jB
https://dl.doubtnut.com/l/_Shxv2aW8LObt
https://dl.doubtnut.com/l/_fVNjmdN4FhTI

| ° Watch Video Solution

20.For set A={1234}B={x€ Z| —2 <z < 2}and C={1,2,3 } are

subset of ..... set .

° Watch Video Solution

2.U =[1,5],A={z |z € N,2* — 6z + 5 = 0} then A=...

° Watch Video Solution

22. If R = set of real number and Q = set of rational number then R -Q =

° Watch Video Solution

23.For set Aif n(A*) = 81 then n(A)=.......



https://dl.doubtnut.com/l/_fVNjmdN4FhTI
https://dl.doubtnut.com/l/_PvXy0ZO1PTYS
https://dl.doubtnut.com/l/_pUEovz4dvICn
https://dl.doubtnut.com/l/_7Fo1mxhDvBmu
https://dl.doubtnut.com/l/_b9Dg6KSdYdK7

I & Watch Video Solution ]

24.If n(A) =m and n (B)= n also total subsets of A are 16 times more than

the subsets of Bthen m-n =....

° Watch Video Solution

25. Let U = set of all triangle and X = set of all triangles whose measure of

all angle is less than 60° then X' = .....

° Watch Video Solution

26.Set A U B has m elements and set A N B has n elements . Then set

AAB has ... elements .

° Watch Video Solution



https://dl.doubtnut.com/l/_b9Dg6KSdYdK7
https://dl.doubtnut.com/l/_91gEDXkzBV7j
https://dl.doubtnut.com/l/_RoCADGU5ks63
https://dl.doubtnut.com/l/_Xs3WO9vo9SYP

27.1f n (A) =10 ,n(B) =6 and A N B # ¢ then maximum value of n (B-A)

o Watch Video Solution

28.If A, B and C are three disjoint sets such that n(A) = 9, n(B) = 7, n(c) =4

thenn(AUBUCQC) =....

o Watch Video Solution

29.A,BeP(U) if ACB then A’UB = .....

o Watch Video Solution

30.For non null sets AandB (AN B)U (A — B) =....

o Watch Video Solution



https://dl.doubtnut.com/l/_iFK2i3uh06qx
https://dl.doubtnut.com/l/_IAx5aDdJv0gA
https://dl.doubtnut.com/l/_EJnEtdkDALLN
https://dl.doubtnut.com/l/_eX2qHDloxzh1
https://dl.doubtnut.com/l/_bmn4JQxbgVSg

31.For given set Aand Bif A C Band A # B then set Ais ....of set B.

o Watch Video Solution

32.The numbers of proper subset of set A having n elements are......

o Watch Video Solution

33. Numbers of elements in power set of the given set

A={xeN|z*<25}are...

o Watch Video Solution

34.....is the interval from of theset {x ¢ R | — 5 <x < 7}.

o Watch Video Solution



https://dl.doubtnut.com/l/_bmn4JQxbgVSg
https://dl.doubtnut.com/l/_Q64KySzuLrc8
https://dl.doubtnut.com/l/_jUQ8uwhRbGYW
https://dl.doubtnut.com/l/_L02Spl358Wcj

35.1n ..way one can represent null set ¢ as property method.

o Watch Video Solution

36. A ={x| x is the letter of the word FELLOW} B ={x| is the letter of the

word FLOW} then both sets are connected with ... operation .

o Watch Video Solution

37. If A={x|x is the multiple of 4} and B = {x|x is the multiple of 6} then A

o Watch Video Solution

38.f A C BthenANB=..........

o Watch Video Solution



https://dl.doubtnut.com/l/_dJXhduMjX8EF
https://dl.doubtnut.com/l/_hsMFl1MX1PNc
https://dl.doubtnut.com/l/_nSJZYhVNhHAR
https://dl.doubtnut.com/l/_mXpRKamQBxcl
https://dl.doubtnut.com/l/_3UsKCCVPYv5u

39. For non null sets A and B if n(A) =16,n(B) = 14 , n(A U B) = 25 then

o Watch Video Solution

40.If n(A)=5,n(B)=8and A C B then n(A U B)=.....

o Watch Video Solution

41.1fn(A)=4,n(B)=9and A C B then n(A N B)=....

o Watch Video Solution

42.If Np = {pz | x € N} then N3N N; = ....

o Watch Video Solution



https://dl.doubtnut.com/l/_3UsKCCVPYv5u
https://dl.doubtnut.com/l/_Rlo9cjw4Bb9g
https://dl.doubtnut.com/l/_8ifQCBhbOHwj
https://dl.doubtnut.com/l/_mwrbwYn0OyfK

43.For non null sets Aand B, A N (A N B) '=....

o Watch Video Solution

44, ¢ is null set and for given non null sets Aand BA N (AU B) = ...

o Watch Video Solution

45.For the non null sets AandB,AU (AN B)’ =...

o Watch Video Solution

46.f A C Bthen A-B=....

o Watch Video Solution

47.For non null sete Aand B ,A N (B-A) =.....


https://dl.doubtnut.com/l/_TWK0QIpBKcPo
https://dl.doubtnut.com/l/_43qLYLSCvx1T
https://dl.doubtnut.com/l/_MBHShMALJqUT
https://dl.doubtnut.com/l/_1WY9oHxn6DiY
https://dl.doubtnut.com/l/_sWef3eZUfjpT

° Watch Video Solution

48. For non null sets A and B if n(A) =16,n(B) = 14 , n(A U B) = 25 then

° Watch Video Solution

49. For non null sets A and B if n(AUB) = 36 ,n(A - B )= 15 and

n(A N B) = 16 then n(B) = ...

° Watch Video Solution

50. For set A={123 4}B={x€ Z| —2 <=z <2}and C={1,2,3 } are

subset of ..... set .

° Watch Video Solution



https://dl.doubtnut.com/l/_sWef3eZUfjpT
https://dl.doubtnut.com/l/_P36eDFJPhwCb
https://dl.doubtnut.com/l/_sdO7rW0rTFny
https://dl.doubtnut.com/l/_LCv86YwBSvsV

51.U = [1,5], A = {m |z € N,z — 6z +5 = 0} then A=...

o Watch Video Solution

52. If R = set of real number and Q = set of rational number then R - Q =

o Watch Video Solution

53.For set A ifn(A4) = 81 then n(A)=.........

o Watch Video Solution

54.1f n(A) =m and n (B)= n also total subsets of A are 16 times more than

the subsets of Bthen m-n=....

o Watch Video Solution



https://dl.doubtnut.com/l/_GUsbVZ07roL1
https://dl.doubtnut.com/l/_mLfsftA2wOfX
https://dl.doubtnut.com/l/_6Qm0n04hnnuG
https://dl.doubtnut.com/l/_xJTHLHTRFBkG
https://dl.doubtnut.com/l/_eKze0JEeIFFO

55. Let U = set of all triangle and X = set of all triangles whose measure of

all angle is less than 60° then X' = .....

° Watch Video Solution

56.Set A U B has m elements and set A N B has n elements . Then set

AAB has ... elements .

° Watch Video Solution

57.1f n (A) =10 ,n(B ) =6 and A N B # ¢ then maximum value of n (B-A)

° Watch Video Solution

58.1f A, B and C are three disjoint sets such that n(A) =9, n(B) = 7, n(c) =4

thenn(AUBUCQC) =...

e l


https://dl.doubtnut.com/l/_eKze0JEeIFFO
https://dl.doubtnut.com/l/_9E6ITATgOLKm
https://dl.doubtnut.com/l/_aa6rKea5tEJA
https://dl.doubtnut.com/l/_C21JDXMTq1jS

| ¥ Vvatch Video Solution |

59.If A C BthenA-B=....

o Watch Video Solution

60. For non null sets AandB (AN B)U (A — B) =....

o Watch Video Solution

Sets True False Statement

1. Numbers of proper subsets of the set having n elements are

2"t _ 2 (n>1¢€ N)

° Watch Video Solution

24— (BNC)=(A-B)N(A-0C).


https://dl.doubtnut.com/l/_C21JDXMTq1jS
https://dl.doubtnut.com/l/_VpXQnSGnaaXF
https://dl.doubtnut.com/l/_tg3xQY8ysd7c
https://dl.doubtnut.com/l/_syuLyLNjgVsw
https://dl.doubtnut.com/l/_AShIcyi2k004

° Watch Video Solution

3. The representation of the set {z € N | 2+ 9= 0}is¢.

° Watch Video Solution

4, For sets A and B , n(A) = 20 , nB) = 30 , n
(AU B) =40,n(A N B) =10 and n(U) = 100 then

n(A’ N B’) = 60.

° Watch Video Solution

5.Numbers of improper subsets of the given set A = {1, 5,9} are 8.

° Watch Video Solution

6.Interval form of theset {x € R | —1 <z < 7}is given by (-1,7] .



https://dl.doubtnut.com/l/_AShIcyi2k004
https://dl.doubtnut.com/l/_CuVkLq0UTWUQ
https://dl.doubtnut.com/l/_eXOsdGhUYk4H
https://dl.doubtnut.com/l/_pBPzJPJQMPnc
https://dl.doubtnut.com/l/_P5TTUic2ZWmk

| o Watch Video Solution

7.A € P(A)

o Watch Video Solution

8. Every set has two subsets .

o Watch Video Solution

9.4 ={1,{2,3}4}then {2,3} C A

o Watch Video Solution

10.If BC A, BC Candxz € Athenz € C

o Watch Video Solution



https://dl.doubtnut.com/l/_P5TTUic2ZWmk
https://dl.doubtnut.com/l/_B7b0z0cVMmTd
https://dl.doubtnut.com/l/_VJmnkUshvBms
https://dl.doubtnut.com/l/_yRSR0RpnJ99D
https://dl.doubtnut.com/l/_aaeuab0Q0psV
https://dl.doubtnut.com/l/_sya4vrQn0wey

n.{¢} = ¢

° Watch Video Solution

12.4 = {z € N | 2° = z} is singleton set.

° Watch Video Solution

13. Numbers of proper subsets of the set having n elements are

2"t _ 2 (n>1¢€ N)

° Watch Video Solution

“.A—(BNC)=(A—-B)n(A-C).

° Watch Video Solution



https://dl.doubtnut.com/l/_sya4vrQn0wey
https://dl.doubtnut.com/l/_WAO1d4QvoK34
https://dl.doubtnut.com/l/_4ntbDwYOykiZ
https://dl.doubtnut.com/l/_YXqreF89BJej

15. The representation of the set {a: EN|z*+9= 0} is¢.

o Watch Video Solution

16. For sets A and B , n(A) = 20 , nB) = 30 , n
(AU B) =40,n(ANB) =10 and n(U) = 100 then

n(A’ N B’) = 60.

o Watch Video Solution

17. Numbers of improper subsets of the given set A = {1, 5,9} are 8.

o Watch Video Solution

18.Interval form of theset {x € R | — 1 < z < 7}is given by (-1,7] .

o Watch Video Solution



https://dl.doubtnut.com/l/_43IIaLGyLCp7
https://dl.doubtnut.com/l/_9LA4EJdvymYQ
https://dl.doubtnut.com/l/_YQRtAJp4y1PA
https://dl.doubtnut.com/l/_TCtlgX6VzVsD
https://dl.doubtnut.com/l/_mfSr5sETbb4m

19.4 € P(A)

o Watch Video Solution

20. Every set has two subsets .

o Watch Video Solution

21.A ={1,{2,3}4}then {2,3} C A

o Watch Video Solution

22.IfBC A, BC Candz € Athenz € C

o Watch Video Solution

2.{¢} = ¢



https://dl.doubtnut.com/l/_mfSr5sETbb4m
https://dl.doubtnut.com/l/_1zT0Xw9HuZye
https://dl.doubtnut.com/l/_dUUD2Mg7gt1w
https://dl.doubtnut.com/l/_mCLExy1WwG6P
https://dl.doubtnut.com/l/_7viZRKwrdDeY

_ o Watch Video Solution

24.A = {z € N | 2* = z} is singleton set.

o Watch Video Solution

Relations And Functions Fill In The Blanks

1. If the order pairs (x+1, y-2) and (3,10) are equal then respective values of

xandy are .. .

° Watch Video Solution

2.A and B are non null sets. Any one out of A and B is infinite then A x B

° Watch Video Solution



https://dl.doubtnut.com/l/_7viZRKwrdDeY
https://dl.doubtnut.com/l/_vA4q6O8cMx4A
https://dl.doubtnut.com/l/_W0RlsvUyTd1u
https://dl.doubtnut.com/l/_Howc6iIsiY9J
https://dl.doubtnut.com/l/_8LgFcHGSYBfg

3.AXx (BUCQC) = ....... .

° Watch Video Solution

arf (Z ity 2) = (2,1 then 2 4y =
. g Y § = g,g €en I Y= .cenn .

° Watch Video Solution

5.Set A has three elements and B = {a, b, c,d} then humbers of elements in

° Watch Video Solution

6. Let A={1,2} and B={3,4}. Write A x B. How many subsets will A x B

have? List them.

° Watch Video Solution



https://dl.doubtnut.com/l/_8LgFcHGSYBfg
https://dl.doubtnut.com/l/_eotpmacXCI7w
https://dl.doubtnut.com/l/_MvRcRl8YPwUv
https://dl.doubtnut.com/l/_SvNlqn2DgEBQ
https://dl.doubtnut.com/l/_75xi444GCw2g

7. Let A={1,2} and B=(3,4}. Find the number of relations from A to B.

° Watch Video Solution

8.f:R— {0} - R, f(z) = - + pz and f(%) = ?thenpau..

° Watch Video Solution

9. Let ={(1,1),(2,3),(0,-1),(,-1,-3)} be a linear function from Z into Z. Find f(x).

° Watch Video Solution

: £(25)
10. Function f: N — R, f(z) = \/z = then value of = e

£(16) + £(1)

° Watch Video Solution

1. If the graph of Y = (x) is symmetric about Y axis then ...



https://dl.doubtnut.com/l/_75xi444GCw2g
https://dl.doubtnut.com/l/_rSHpJKs9icdJ
https://dl.doubtnut.com/l/_WiT3lXzAUEig
https://dl.doubtnut.com/l/_sIwfOyqkwotq
https://dl.doubtnut.com/l/_uKlAkYXdF2QN

| o Watch Video Solution

12. Value of [2.3] is .......

o Watch Video Solution

13. Value of [-2.3] is ........

o Watch Video Solution

14. Graph of the function f: R — R, f(z) = 3z + 5is ...

o Watch Video Solution

15. f:R — R, function f(x) is defined as f(z) =2z + |z| then

f@z) + f( —z) — f(2) = e

o Watch Video Solution



https://dl.doubtnut.com/l/_uKlAkYXdF2QN
https://dl.doubtnut.com/l/_Qh7d2MJBXkME
https://dl.doubtnut.com/l/_YE9JVnFnBGMK
https://dl.doubtnut.com/l/_tV4oJP1AIUZE
https://dl.doubtnut.com/l/_aejsdmfLNpZx

16. f:R—{0} - R — {0}, f(z) = 42® + 32> + 3z + 4 then

° Watch Video Solution

17. Function f defined on Z to Z as

F={(1,1),(23),(3,5),(4,7)} and f(x) = ax +bthena+b=...

° Watch Video Solution

18. Function f and g defned on R—-{0} >R as

f(z) =z and g(z) = % then f.g(z) = .......

° Watch Video Solution



https://dl.doubtnut.com/l/_aejsdmfLNpZx
https://dl.doubtnut.com/l/_sXC5i2S71YL1
https://dl.doubtnut.com/l/_FJRTiyeQbNuk
https://dl.doubtnut.com/l/_nHj9qaNmxelt

19. Function and g defined on

R — R as f(z) =x>+7 and g(z) = 3z + 5. Then f(3) + g(-5) = ......

° Watch Video Solution

20. Ry ={(z,y) |y=2x+ 7,y € R and = € | — 5, 5|} Then range of

Ry oo

° Watch Video Solution

21.f and g are real functions defined by f(x)= 2x + 1 and g(x) =4x -7. If f(x) =

g(x) then x = .....

° Watch Video Solution

22. f and g are real functions defined by f(x)= 2x + 1 and g(x) =4x -7. If

f(z) < g(x) thenx .. 4.

| e |


https://dl.doubtnut.com/l/_4etGXJfRFZk2
https://dl.doubtnut.com/l/_l3BwlNII7K0z
https://dl.doubtnut.com/l/_jUGKp2Ydh0IW
https://dl.doubtnut.com/l/_bjtLXuxDmNmY

| & Watch Video Solution I

23.f(x) is linear function of the type mx + c and f(-1) = -5 and f(3) = 3 then

values of m and c are ...and ......

° Watch Video Solution

2 +22 +1
2 — 8¢ + 12

24.Find the domain of the function f(z) =

° Watch Video Solution

25. The temperature in Celsius in the particular day in city is given by

9c .
t(c) = -t 32. if c=-10 then value of t(c) = .....

° Watch Video Solution



https://dl.doubtnut.com/l/_bjtLXuxDmNmY
https://dl.doubtnut.com/l/_aObe72WsV853
https://dl.doubtnut.com/l/_nIrRwMYF66Vb
https://dl.doubtnut.com/l/_BGBxaUyVuYcO

26. If flz) = 1 +z then f(z) + f(%) = e where

(z) € R — {0, 1}.

o Watch Video Solution

27.1F f(z) = 2 henf(a). f(a:).f(—) -

a + bz

(where z # 0)

o Watch Video Solution

28.1f f(z) = L

then z = ......
1+

o Watch Video Solution

29.1f f(z) = sinz then 2f(x). f(90 —z) = .....

o Watch Video Solution



https://dl.doubtnut.com/l/_fWlK5RL8wIyd
https://dl.doubtnut.com/l/_s5DER1Uo1RUv
https://dl.doubtnut.com/l/_wXAcgP4N755t
https://dl.doubtnut.com/l/_RKWf5Mklo1oY

30. The function 't' which maps temperature in degree Celsius into

9(c)

temperature in degree Fahrenheit is defined by t(c) 5 + 32. If

t(c)=212 thenc=....

° Watch Video Solution

31. If the order pairs (x+1, y-2) and (3,10) are equal then respective values

of xand yare ....... .

° Watch Video Solution

32. A and B are non null sets. Any one out of A and B is infinite then

° Watch Video Solution

33.Ax (BUC) = ....... .



https://dl.doubtnut.com/l/_plR4fc0QAJlM
https://dl.doubtnut.com/l/_pwSX0pUIyhd4
https://dl.doubtnut.com/l/_hEaiYzQ2kpv2
https://dl.doubtnut.com/l/_BGmffGvpbEgM

| Y Watch Video Solution

s (Z41,y—2) = (2,1) =
. 3 7 3)=\33 en r+yY=—.... .

° Watch Video Solution

35.Set A has three elements and B ={a, b, ¢c,d} then numbers of elements

in 'AxB' are. ...........

° Watch Video Solution

36. Let A={1,2} and B={3,4}. Write A X B. How many subsets will A x B

have? List them.

° Watch Video Solution

37. Let A={1,2} and B={3,4}. Find the number of relations from A to B.



https://dl.doubtnut.com/l/_BGmffGvpbEgM
https://dl.doubtnut.com/l/_mvQv13CpFRtd
https://dl.doubtnut.com/l/_wWrhJ1euqOG8
https://dl.doubtnut.com/l/_tU3SsbeY2G11
https://dl.doubtnut.com/l/_3TMXn7xOSii1

I & Watch Video Solution

38.f: R — {0} — R, f(z) = %+pm and f<%) = ?thenpam.

° Watch Video Solution

39, Let f={(1,1),(2,3),(0,-1),(,-1,-3)} be a linear function from Z into Z. Find f(x).

° Watch Video Solution

25
40.Function f: N — R, f(xz) = \/z = then value of f(25) = .

F(16) + f(1)

° Watch Video Solution

41.If the graph of Y = (x) is symmetric about Y axis then ...

° Watch Video Solution



https://dl.doubtnut.com/l/_3TMXn7xOSii1
https://dl.doubtnut.com/l/_s3t6JDFW7cB6
https://dl.doubtnut.com/l/_qmOLvD5TnRVe
https://dl.doubtnut.com/l/_0vi2kesxBBFW
https://dl.doubtnut.com/l/_mf8i4YnZ2TQt

42.Value of [2.3] is .......

o Watch Video Solution

43. Value of [-2.3] is ........

o Watch Video Solution

44, Graph of the function f: R — R, f(z) =3z + 5is .....

o Watch Video Solution

45. f:R — R, function f(x) is defined as f(z) =2z + |z| then

f2x) + f( —z) — f(x) = o

o Watch Video Solution



https://dl.doubtnut.com/l/_mf8i4YnZ2TQt
https://dl.doubtnut.com/l/_YTJjyxJ0DoiE
https://dl.doubtnut.com/l/_URqKJoJIHOqB
https://dl.doubtnut.com/l/_aEPq0oK3oPF1
https://dl.doubtnut.com/l/_NumsOJuplhwE
https://dl.doubtnut.com/l/_sYHP9i0YrVY9

46. f:R—{0} - R — {0}, f(z) = 42 + 32° + 3z + 4 then

° Watch Video Solution

47. Function f defined on Z to Z as

fF=4(1,1),(23),(3,5),(4,7)} and f(x) = ax +bthena+b=....

° Watch Video Solution

48. Function f and g defned on R-—{0} - R as

f(z) =z and g(z) = % then f.g(z) = .......

° Watch Video Solution

49, Function and g defined on

R — R as f(z) = x>+ 7 and g(z) = 3z + 5. Then f(3) + g(-5) = ......

s l


https://dl.doubtnut.com/l/_sYHP9i0YrVY9
https://dl.doubtnut.com/l/_QVoWxsPqrDWp
https://dl.doubtnut.com/l/_wWAxARJoh69h
https://dl.doubtnut.com/l/_hceLhxuCCWwC

| % Vvaldn vVIAco 501utiorn ]

50. Ry = {(z,y) | y=2x+ 7,y € R and = € [ — 5, 5|} Then range of

Ry . .

° Watch Video Solution

51.f and g are real functions defined by f(x)= 2x + 1 and g(x) =4x 7. If f(x) =

g(x) then x = .....

° Watch Video Solution

52. f and g are real functions defined by f(x)= 2x + 1 and g(x) =4x 7. If

f(z) < g(z) thenx..4.

o Watch Video Solution



https://dl.doubtnut.com/l/_hceLhxuCCWwC
https://dl.doubtnut.com/l/_ez5HZEcD9eaq
https://dl.doubtnut.com/l/_YNZJF4j8ruLn
https://dl.doubtnut.com/l/_miypO9ED8e6G

53.f(x) is linear function of the type mx + c and f(-1) = -5 and f(3) = 3 then

values of m and c are ...and ......

° Watch Video Solution

22 +22 +1
2 — 8¢ + 12

54.Find the domain of the function f(z) =

° Watch Video Solution

55. The temperature in Celsius in the particular day in city is given by

9c .
t(c) = -t 32. if c=-10 then value of t(c) = .....

° Watch Video Solution

56. If flz) =

(z) € R — {0, 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_o3C3uA07Ycv0
https://dl.doubtnut.com/l/_nFfZ0ITCHI93
https://dl.doubtnut.com/l/_XbJF8IA7iSEM
https://dl.doubtnut.com/l/_UIwXBKRYo4zj

T +b
+ bz

57.1F f(z) = Z

(where z # 0)

° Watch Video Solution

1—=z

then z = ......
1+

58.If f(z) =

° Watch Video Solution

59.1f f(x) = sinz then 2f(x). f(90 —z) = .....

° Watch Video Solution

60. The function 't' which maps temperature in degree Celsius into

9(c)

temperature in degree Fahrenheit is defined by t(c) 5 + 32.If

t(c)=212thenc=....



https://dl.doubtnut.com/l/_UIwXBKRYo4zj
https://dl.doubtnut.com/l/_L941qnsvWXdJ
https://dl.doubtnut.com/l/_ThCjvLbWJFU8
https://dl.doubtnut.com/l/_yN92bD4Kkgm0
https://dl.doubtnut.com/l/_GYFXKkV3AHx9

| ° Watch Video Solution

Relations And Functions True False Statement

1. Set A has three elements and B ={a, b, c,d} then numbers of elements in

° Watch Video Solution

2.1f n(A) = p and n (B) = g then numbers of non void relations from A to B

are (2p+q - 1).

° Watch Video Solution

3. Examine each of the following relations given below and state in each
case, giving resons whether it is function or not?
(i) R={(2)1), (3,1), (4,2)}, (ii) R={(2,2), (2,4) ,(3,3),(4,4)}

(i) R={(1,2),(2,3),(3,4),(4,5),(5,6),(6,7)}


https://dl.doubtnut.com/l/_GYFXKkV3AHx9
https://dl.doubtnut.com/l/_ExNQW9P1QPay
https://dl.doubtnut.com/l/_0AouGOcsVsOP
https://dl.doubtnut.com/l/_Fe84LUGOKCLB

° Watch Video Solution

4,
A={3k|ke N} B={3k—1|ke N}and C = {3k—2| k € N}.

Then A, B and C are disjoint sets .

° Watch Video Solution

5.n(AAB) = n(A) +n(B) — 2n(A N B)

° Watch Video Solution

6.1f [n(A)]* = 8 and {0, 1, 0} € A% then a={0,}

° Watch Video Solution



https://dl.doubtnut.com/l/_Fe84LUGOKCLB
https://dl.doubtnut.com/l/_4zO5MfRPNlFT
https://dl.doubtnut.com/l/_oqZWU5lkvHHf
https://dl.doubtnut.com/l/_3flOJKlMgWbo

7. A = Set of odd natural numbers
B = set of even natural numbers
F = {(a,b) | a.bis even natural number, a € A, b € B} Then domain

of relation Ris set . A

° View Text Solution

8.f:R — R, f(x) = sec®z — tan® z is constant function .

° Watch Video Solution

9. Graph of constant function is line parallel to Y - axis (means graph is

vertical line)

° Watch Video Solution

z — |z|

10.Forz # 0, f(z) = iz

then f(—1) =0



https://dl.doubtnut.com/l/_yHjBjZ7eiHdi
https://dl.doubtnut.com/l/_Ilytd4kcq0re
https://dl.doubtnut.com/l/_krffC1m9bBSZ
https://dl.doubtnut.com/l/_oHuTXe3BUDgc

| o Watch Video Solution

Mf:RT — RT, f(z) = 2> + 4(y/z) + 3 then f(4) = 24.

° Watch Video Solution

12. Graph of identity function passes from origin and also from first , third

quadrant .

° Watch Video Solution

13.f and g are real functions defined by f(x)= 2x + 1 and g(x) =4x 7. If f(x) =

g(x) then x = .....

° Watch Video Solution



https://dl.doubtnut.com/l/_oHuTXe3BUDgc
https://dl.doubtnut.com/l/_RXkcNvQYBubv
https://dl.doubtnut.com/l/_RNRHulmYOj6l
https://dl.doubtnut.com/l/_bNVcAWZIqmtJ

14. Let R be the relation on y4 defined by
R ={(a,b):a,b € Z, a — bis an integer). Find the domain and range

of R.

° Watch Video Solution

22+ 3z +5

15. Find the domain of the function f(z) = ———
x2 — bz + 4

° Watch Video Solution

16. Set A has three elements and B = {a, b, c,d} then numbers of elements

in 'AxB' are ...........

° Watch Video Solution

17.1f n(A) = p and n (B) = g then numbers of non void relations from A to B

are (2779 —1).

[ )|


https://dl.doubtnut.com/l/_uh0lSmMkTGWQ
https://dl.doubtnut.com/l/_scocdP9AXHQG
https://dl.doubtnut.com/l/_fuN2Mw3QzoGO
https://dl.doubtnut.com/l/_0I5GiVUHdFmD

| Y Watch Video Solution

18.Let R = {(1,3),(2,2),(3,2)} and § = {(2,1), (3,2), (2, 3)} be two

relations on set A = {(1, 2, 3)}. Then, SoR is equal

° Watch Video Solution

19.
A={3k| ke N}YB={3k—1|ke N} and C={3k—2| ke N}

Then A, B and C are disjoint sets .

° Watch Video Solution

20.n(AAB) = n(A) + n(B) — 2n(A N B)

° Watch Video Solution



https://dl.doubtnut.com/l/_0I5GiVUHdFmD
https://dl.doubtnut.com/l/_ADKWubHRlWYf
https://dl.doubtnut.com/l/_5g6pr5JOoq3C
https://dl.doubtnut.com/l/_izqVU1MNlRDD

21.1f [n(A)]* = 8 and {0, 1, 0} € A® then a={0,1}

° Watch Video Solution

22.Let A={x: xis a natural number},
B ={x: x is an even natural number},
C ={x:xis an odd natural number}
and D ={x: x is a prime number}.

Find

° Watch Video Solution

23.f: R — R, f(z) = sec® & — tan® z is constant function .

° Watch Video Solution



https://dl.doubtnut.com/l/_dBmMJAA3Rvkf
https://dl.doubtnut.com/l/_xNuuUBMC7hNp
https://dl.doubtnut.com/l/_sDE7HYnCUJlD

24. Graph of constant function is line parallel to Y - axis (means graph is

vertical line)

o Watch Video Solution

z — |z|

]

25.Forz # 0, f(z) = then f(—1) =0

° Watch Video Solution

26.f:R" — R", f(z) = 2> + 4(\/z) + 3 then f(4) = 24.

° Watch Video Solution

27. Graph of identity function passes from origin and also from first , third

quadrant .

° Watch Video Solution



https://dl.doubtnut.com/l/_iIe1heze71TU
https://dl.doubtnut.com/l/_ORUPN72Tygvn
https://dl.doubtnut.com/l/_JBqsY0n7mkGD
https://dl.doubtnut.com/l/_8Dge0K5GJS2g
https://dl.doubtnut.com/l/_H8p8d9gbuDog

28.f and g are real functions defined by f(x)= 2x + 1 and g(x) =4x 7. If f(x) =

g(x) then x = .....

° Watch Video Solution

29. Let R be the relation on z defined by
R = {(a,b):a,b € Z,a — bis an integer). Find the domain and range

of R.

° Watch Video Solution

z2+3x+5

30. Find the domain of the function f(z) =
z? — 5z + 4

o Watch Video Solution

Trigonometric Functions Fill In The Blanks



https://dl.doubtnut.com/l/_H8p8d9gbuDog
https://dl.doubtnut.com/l/_jkHJWowDM81d
https://dl.doubtnut.com/l/_vZBF8XOGOzv0

1. Radian value of 47°30" is ......

o Watch Video Solution

2.2 Radian = ... Degree.

o Watch Video Solution

3. Arc at the circle with length 37.4 c¢cm subtends and angle of 60° at

centre . Then its radius r = .........

o Watch Video Solution

4. Angle made by the the arc of length 55 cm at center is ...if length of

radius is 25 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_tIBr46h7agRW
https://dl.doubtnut.com/l/_tmSI3PBmSL6w
https://dl.doubtnut.com/l/_D45zsMghNzPF
https://dl.doubtnut.com/l/_6ccLJ3tJ4swt
https://dl.doubtnut.com/l/_0xOBSaeUVOPQ

5. ......is the length of the arc of the circle with radius 28 cm and angle

made by two radii at centre is 45° .

° Watch Video Solution

3
6. Arc of length 157 subtends an angle Tﬂ at centre then radius r =

° Watch Video Solution

7. Measure of an angle of the regular polygon having ten sides is

° Watch Video Solution

8. Length of the arc of circle with radius 5 cm and angle at centre is 15°



https://dl.doubtnut.com/l/_0xOBSaeUVOPQ
https://dl.doubtnut.com/l/_56YfNzMlBqWL
https://dl.doubtnut.com/l/_LQOKYLoCjxui
https://dl.doubtnut.com/l/_nlEGuKlXb0UO

| ¥ Vvatch Video Solution J

9.Find the angle in radian through which a pendulum swings if its length
is 75 cm and the tip describes an arc of length (i) 10 cm (ii) 15 cm (iii)

21cm.

° Watch Video Solution

10. Graph of sin(x) function repeats its value in ........ Interval length.

° Watch Video Solution

T T T
11.2sin2<4) +2cos2(4) +sec2(3> has value .........

° Watch Video Solution

12.c05( 2 Jeos () + sin( 2 )sin(Z) o

| nu..,;,l,\'!,l,, o~ _01_ _an°*



https://dl.doubtnut.com/l/_nlEGuKlXb0UO
https://dl.doubtnut.com/l/_2NtRdIAELt5H
https://dl.doubtnut.com/l/_n8tT54XSJQ3Y
https://dl.doubtnut.com/l/_dvVHW7fdrsc9
https://dl.doubtnut.com/l/_QATfSzPkJPmj

| % Vvaldn vIiaco 501ution

3 657 B
. COS 1 S

o Watch Video Solution

14.1f cot x = — /5 and x in second quadrant then sin x =

..........

o Watch Video Solution

15. 95 5% ,(ﬂ')_
. 2sin B sin T3 ) = e

o Watch Video Solution

1 — tan?(15°)
16. The value of [[J—
1+ tan?(15°)

o Watch Video Solution



https://dl.doubtnut.com/l/_QATfSzPkJPmj
https://dl.doubtnut.com/l/_omodbHb3PX1d
https://dl.doubtnut.com/l/_CsBZlbbOj3ZQ
https://dl.doubtnut.com/l/_sSaKzz7tbJf4
https://dl.doubtnut.com/l/_bp5WcavXLh3U
https://dl.doubtnut.com/l/_0QGFpBQKuG1v

17.1f A + B + C = m then sec A(cos Bcos C — sin BsinC) =

.........

o Watch Video Solution

18 3sin(ﬂ) — 4si113(7r) =
0 § 5 —— eesssce

o Watch Video Solution

19. One root of the equation 6z — 82° = /3 is .......

o Watch Video Solution

sin(3a)

"1+ 2cos(2a)

o Watch Video Solution

21. cos(47°)cos(13°) — sin(47°)sin(13°) = .........



https://dl.doubtnut.com/l/_0QGFpBQKuG1v
https://dl.doubtnut.com/l/_Dp8GsMpfRNFr
https://dl.doubtnut.com/l/_kZzGe0IINS41
https://dl.doubtnut.com/l/_z1iYDVGctsRU
https://dl.doubtnut.com/l/_tbxWmeYUYPIo

| o Watch Video Solution

22.5in( T2 Yeos (1) = cos (12 )sin(Z) -
. S1n 12 COs 4 COSs 12 sin 4 T eieteneens .

° Watch Video Solution

23. Sum of the measure of an angle of cyclic quadrilateral ABCD is

......... radian.

° Watch Video Solution

24. Solution set of the equation 3tan® + 4tan 4 2 = 0/is ..

° Watch Video Solution

25.For AABC , sinA + sinB + sinC

° Watch Video Solution



https://dl.doubtnut.com/l/_tbxWmeYUYPIo
https://dl.doubtnut.com/l/_OKu2bRSftdiS
https://dl.doubtnut.com/l/_CwUDH0aHqRlq
https://dl.doubtnut.com/l/_qzg6yElAVf7J
https://dl.doubtnut.com/l/_PYiqVhoptRuO

26.In AABC, m/A = 90,m/B = 30 and a = 10° then b =........

° Watch Video Solution

27.In AABC it mZC = 90° than tan A + tan B = ....(where a, b, ¢ are

sides opposite to angles A, B, C respectively).

° Watch Video Solution

28. Solution of the equation 2cosz + 1 = O is ..........

° Watch Video Solution

29. Height of the tower and multy storied building is same of 30 mets .

The angle at elevation at some point joining base at both is a and 3 then

..........



https://dl.doubtnut.com/l/_PYiqVhoptRuO
https://dl.doubtnut.com/l/_TwR3eFQnN6xt
https://dl.doubtnut.com/l/_4h4gnJoJ15Nd
https://dl.doubtnut.com/l/_7hw74s9GxxL5
https://dl.doubtnut.com/l/_X21iKUQN0Epv

I & View Text Solution I

30. ......is the angle of elevation of sun if height of building and its shadow

are equal .

° Watch Video Solution

31. At ... height one can reach by walking x mets with slope 30° and with

height y met.

° Watch Video Solution

32. Radian value of 47°30" is ......

° Watch Video Solution

33.2 Radian =.......... Degree.

e I


https://dl.doubtnut.com/l/_X21iKUQN0Epv
https://dl.doubtnut.com/l/_d9ILiMhQ53a4
https://dl.doubtnut.com/l/_wSFytwDj9LT5
https://dl.doubtnut.com/l/_PeIFzyQMHlKK
https://dl.doubtnut.com/l/_D56tLyTdHXdP

| ¥ vvatch vidaeo sSolution J

34. Arc at the circle with length 37.4 cm subtends and angle of 60° at

centre . Then its radius r = .........

° Watch Video Solution

35. Angle made by the the arc of length 55 cm at center is .....if length of

radius is 25 cm

° Watch Video Solution

36. ......is the length of the arc of the circle with radius 28 cm and angle

made by two radii at centre is 45° .

° Watch Video Solution



https://dl.doubtnut.com/l/_D56tLyTdHXdP
https://dl.doubtnut.com/l/_nsM0ceGkbz0W
https://dl.doubtnut.com/l/_mxng4ab0HhmV
https://dl.doubtnut.com/l/_nnJgZJh9piWX

3
37. Arc of length 157 subtends an angle TW at centre then radius r =

° Watch Video Solution

38. Measure of an angle of the regular polygon having ten sides is

......... radian.

° Watch Video Solution

39. Length of the arc of circle with radius 5 cm and angle at centre is 15°

° Watch Video Solution

40. .. is the measure of an angle in radian through which the

pendulum swings if its length is 75 cm and makes an arc of length 21 cm

| e |


https://dl.doubtnut.com/l/_7ztxv0fIUuZq
https://dl.doubtnut.com/l/_oOlAXrpEnxgJ
https://dl.doubtnut.com/l/_ACi3m7vaff5p
https://dl.doubtnut.com/l/_JS1fLmZlRbcC

| & Watch Video Solution

41. Graph of sin(x) function repeats its value in ... Interval length.

o Watch Video Solution

T T T
42.2sin2(4> +2(:0s2<4) —|—sec2(3) has value .........

o Watch Video Solution

3.cos( Z)eos(Z) + sin(Z)sin (2 o

o Watch Video Solution

44 657 B
. COS 1 = s

o Watch Video Solution



https://dl.doubtnut.com/l/_JS1fLmZlRbcC
https://dl.doubtnut.com/l/_mfajI1Y4ibN6
https://dl.doubtnut.com/l/_Ig0glmtS8cmB
https://dl.doubtnut.com/l/_Dcu3WZygFhMz
https://dl.doubtnut.com/l/_qOokgaZZFVUh
https://dl.doubtnut.com/l/_TmGCksia2NLk

45.If cot £ = — 4/b and x in second quadrant then sin x = .........

° Watch Video Solution

46.26in( 2% Jsin( 1) =
. 2 S11 12 Sin 12 ey

o Watch Video Solution

1 — tan?(15°)
47.The value of [T3—
1+ tan?(15°)

o Watch Video Solution

48.1f A + B + C = wthen sec A(cos Bcos C — sin BsinC) = .........

o Watch Video Solution

49 3sin(7r) — 4sin3(7r) =
. 6 3 T eesccce


https://dl.doubtnut.com/l/_TmGCksia2NLk
https://dl.doubtnut.com/l/_Kk1imUq40QdS
https://dl.doubtnut.com/l/_7dsWVzDQPecr
https://dl.doubtnut.com/l/_B3ffmH81r04Q
https://dl.doubtnut.com/l/_v5b9A1lg5a0X

° Watch Video Solution

50. One root of the equation 6z — 8z = /3 is ........

° Watch Video Solution

sin(3a)

"1+ 2cos(2a)

----------

o Watch Video Solution

52.c0s(47° )cos(13°) — sin(47°)sin(13°) = .........

o Watch Video Solution

53.sin(%>c05(%) — CoS (Z—g)sm(%) = e .

o Watch Video Solution



https://dl.doubtnut.com/l/_v5b9A1lg5a0X
https://dl.doubtnut.com/l/_b4PbhToXXiTk
https://dl.doubtnut.com/l/_ZFstCuWxm3J4
https://dl.doubtnut.com/l/_lGJx1tuvZF5G
https://dl.doubtnut.com/l/_Fmq55NbDQuHR

54. Sum of the measure of an angle of cyclic quadrilateral ABCD is

......... radian.

o Watch Video Solution

55. Solution set of the equation 3tan? 6 + 4tanf + 2 = 0is ..

o Watch Video Solution

56.For AABC',sinA + sinB + sinC

o Watch Video Solution

57.In AABC,m/ZA = 90, m/ZB = 30 and a = 10° thenb = ........

o Watch Video Solution



https://dl.doubtnut.com/l/_kI05ezeHJB4q
https://dl.doubtnut.com/l/_Sokya7kUCarz
https://dl.doubtnut.com/l/_NGA3Jy1tDoeB
https://dl.doubtnut.com/l/_btnGtnZlBuQZ

58.In AABC if m/C = 90° thantan A + tan B =......

° Watch Video Solution

59. Solution of the equation 2cosz + 1 = Ois ...........

° Watch Video Solution

60. Height of the tower and multy storied building is same of 30 mets .

The angle at elevation at some point joining base at both is a and 3 then

° View Text Solution

61. .....is the angle of elevation of sun if height of building and its shadow

are equal .

° Watch Video Solution



https://dl.doubtnut.com/l/_mvaXosmyUSDe
https://dl.doubtnut.com/l/_5PW3uUJ9UqbW
https://dl.doubtnut.com/l/_9M6xQ3FO3kOm
https://dl.doubtnut.com/l/_PtYPGov6ij8V

62. At ... height one can reach by walking x mets with slope 30° and

with height y met.

o Watch Video Solution

Trigonometric Functions True False Statement

1. Value of the rotation of point P on unit circle increase in multiple of 27

then value of sine and cosine does not change.

° Watch Video Solution

3
2.Iftanf = 3 and O is in third quadrant then sinf = ——.

/10

° Watch Video Solution



https://dl.doubtnut.com/l/_PtYPGov6ij8V
https://dl.doubtnut.com/l/_iBVqQLIzGCDh
https://dl.doubtnut.com/l/_Ir9gnFEVYSYD
https://dl.doubtnut.com/l/_PJpYR4uYoqzq

3.sin% @ + cos* 0 + 2sin® 6 cos? 6 has value 1.

o Watch Video Solution

4. Point of intersection of the graph of sine function with X - axis has

value zero.

o Watch Video Solution

5.1f f(z) = cos® x + sec’ z, then

o Watch Video Solution

1
6. 0= —
cosec 5

o Watch Video Solution



https://dl.doubtnut.com/l/_IrfvieeJqbjj
https://dl.doubtnut.com/l/_6l3Naa2GB2oR
https://dl.doubtnut.com/l/_ixKZ7KQ3uefs
https://dl.doubtnut.com/l/_aiGc4uWnG8U5

7.tan(20°) > tan(120°)

o Watch Video Solution

8.1f0 <0 < l and 5tanf = 4 then —
2 sin@ + 2cos 6

5sinf — 3cos B

5

14

° Watch Video Solution

25

13
9. If cosecl + cot 0 = 5 then cot? 6 — cosec’f = =

° Watch Video Solution

10. cos(2m — )cos( — =) — sin(27 + z)sin( —z) = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_hoZTCJDgKVF7
https://dl.doubtnut.com/l/_GkkEW4nQKCJz
https://dl.doubtnut.com/l/_yZAUzgZS1TLT
https://dl.doubtnut.com/l/_Encbgx7rfvb9
https://dl.doubtnut.com/l/_jyoJtvC2VIP6

° Watch Video Solution

—12

. 3 7 )
12.sinf = T < 0 < mwsin20 = 5

° Watch Video Solution

13.1ftanf = /2 — 1 then tan (20) = 1.

° Watch Video Solution

14.If in two circles, arcs of the same length subtend angles 60° and 75°

at the centre, find the ratio of their radii.

° Watch Video Solution

2 3
15.fz +y= % then equation cosz + cosy = 3 has empty solution

set.



https://dl.doubtnut.com/l/_jyoJtvC2VIP6
https://dl.doubtnut.com/l/_xEkNAXkhDdCR
https://dl.doubtnut.com/l/_WmXUeoL8Lzek
https://dl.doubtnut.com/l/_uq1HmUyXQpDO
https://dl.doubtnut.com/l/_f16WKdELB4cM

| ° Watch Video Solution

16. If tan6 — tan’0 = 1 , then tan*@ — 2tan® 0 — tan®6 + 2tan6 + 1

has value 4.

° Watch Video Solution

4

17. Number of solution of equation cos*z — 2cos®>z + 1 = 0 in interval

[0, 27] are only two .

° Watch Video Solution

1 1
18.If tan6 = 3 and tan¢ = g,then the value of 0 + ¢ is

° Watch Video Solution

19. f(x) =3 cos x + 4 sin x + 8 has minimum value 19.



https://dl.doubtnut.com/l/_f16WKdELB4cM
https://dl.doubtnut.com/l/_XyNkd2lzOjhJ
https://dl.doubtnut.com/l/_IrRth1XojikS
https://dl.doubtnut.com/l/_3P4OpA7TQvRD
https://dl.doubtnut.com/l/_wSlFHnDBYTJW

I & Watch Video Solution I

3
20.1f in AABCa =9,b =7 and sinA = 1 then AABC is right angle

° Watch Video Solution

21. Value of the rotation of point P on unit circle increase in multiple of

21 then value of sine and cosine does not change .

° Watch Video Solution

3
22.If tan@ = 3 and @ is in third quadrant then sinf = ——.

/10

° Watch Video Solution

23.sin* @ + cos* @ + 2sin® 0 cos? 0 has value 1.

[ o S |


https://dl.doubtnut.com/l/_wSlFHnDBYTJW
https://dl.doubtnut.com/l/_VZJcUXXVPlYk
https://dl.doubtnut.com/l/_PneAp2TNm5FM
https://dl.doubtnut.com/l/_pZxgZv0ziEEg
https://dl.doubtnut.com/l/_Uhaayen4SkJC

[ @ Watch Video Solution ]

24. Point of intersection of the graph of sine function with X - axis has

value zero.

o Watch Video Solution

25.1f f(z) = cos® z + sec® z, then

o Watch Video Solution

1
26. cosecl = 3

o Watch Video Solution

27.tan(20°) > tan(120°)

o Watch Video Solution



https://dl.doubtnut.com/l/_Uhaayen4SkJC
https://dl.doubtnut.com/l/_xgY1cfcJA4VC
https://dl.doubtnut.com/l/_52bn9bJhTd7z
https://dl.doubtnut.com/l/_yEiMqtDbVyLp
https://dl.doubtnut.com/l/_wn1nvR4zci51

5sinf — 3cos B

28.1f0 < 6 < l and 5tanf = 4 then —
2 sin@ + 2cos 6

5

14

° Watch Video Solution

13 25
29. If cosecl + cot O = 5 then cot? 6 — cosec?f = ET)

° Watch Video Solution

30. cos(2m — x)cos( — x) — sin(27 + z)sin( — z) =0

° Watch Video Solution

31.3Sin(%) _ 4sin3(%) —

° Watch Video Solution

—12

3 m
2.si - —_ i -
32.sin6 2 < 0 < msin26 5%



https://dl.doubtnut.com/l/_9U6DqF9oVc8I
https://dl.doubtnut.com/l/_NWucjkjFWQ1b
https://dl.doubtnut.com/l/_WK4yy0zlY53K
https://dl.doubtnut.com/l/_0BOqr1MkDS11
https://dl.doubtnut.com/l/_3Uw9drzrDequ

° Watch Video Solution

33.If tan® = /2 — 1thentan (260) = 1.

° Watch Video Solution

34.1f in two circles, arcs of the same length subtend angles 60° and 75°

at the centre, find the ratio of their radii.

° Watch Video Solution

2 3
35.fz +y = % then equation cosx + cosy = 3 has empty solution

set.

° Watch Video Solution



https://dl.doubtnut.com/l/_3Uw9drzrDequ
https://dl.doubtnut.com/l/_o9zEALKdiBxx
https://dl.doubtnut.com/l/_MxYQausJC3SK
https://dl.doubtnut.com/l/_gU9qfYs02SV1

36. If tanf — tan’6 = 1 , then tan*0 — 2tan® 0 — tan?0 + 2tanf + 1

has value 4.

o Watch Video Solution

37. The number of solutions of equation tanx + secz = 2cos z lying in

the interval [0, 27] is

o Watch Video Solution

1 1
38.If tanf = 3 and tan¢ = g,then the value of 0 + ¢ is

o Watch Video Solution

39.f(x) =3 cos x + 4 sin x + 8 has minimum value 19.

o Watch Video Solution



https://dl.doubtnut.com/l/_AEyOQM27nK4j
https://dl.doubtnut.com/l/_KTPsBfxEhWaO
https://dl.doubtnut.com/l/_kr6QRAVpQoCU
https://dl.doubtnut.com/l/_t8HJ5fU6PimX
https://dl.doubtnut.com/l/_xEPjaXUx9X8r

3
40.1fin AABCa = 9,b =7 and sinA = 1 then AABC is right angle

o Watch Video Solution

Principle Of Mathematical Induction Fill In The Blanks

1. P(n):2" —1,forn = . it is a prime number.

° Watch Video Solution

2. If....is true and P(k) is true = P(k+1) is true, k > — 1, then for all

n € NU{0, — 1}, P(n) is true.

° Watch Video Solution

3.P(n) : n (n+1) is even number then P(3) =.........



https://dl.doubtnut.com/l/_xEPjaXUx9X8r
https://dl.doubtnut.com/l/_4v36n6ObaLDQ
https://dl.doubtnut.com/l/_HE6YqfqqLpvL
https://dl.doubtnut.com/l/_Fkwbz5WpIaX2

I & Watch Video Solution I

4.P(n): 1> +2° + 3% + ... +n? = %(n—l—l)(2n—|—1)n€Nis true

then1?2 +22 + 32+ ... 102 = .

° Watch Video Solution

5.Statement P (n) : 10" + 3(4"”) + 5is divisible by n = ...

° Watch Video Solution

6.P(n):2n + 1,forn = ... it is not a prime number.

° Watch Video Solution

7.P(n):2" > n?, forn=....itis true.

° Watch Video Solution



https://dl.doubtnut.com/l/_Fkwbz5WpIaX2
https://dl.doubtnut.com/l/_HO1E3RxmnoiR
https://dl.doubtnut.com/l/_eia5lgrrDSuL
https://dl.doubtnut.com/l/_u6VhuzOGIGqz
https://dl.doubtnut.com/l/_m0ywL7m4z22m

8.P(n): n?> —n +41,forn=...,itis not prime number .

° Watch Video Solution

9. ... is the remainder if P (n) : 32" *2 — 8n is divided by 64.

° Watch Video Solution

10. Statement P(n):n® 4 3n® 4 5n + 3 is multiple of ....smellest odd

number.

° Watch Video Solution

M. P(n):2" — 1,forn = .. it is a prime number.

° Watch Video Solution



https://dl.doubtnut.com/l/_m0ywL7m4z22m
https://dl.doubtnut.com/l/_Vr08AkNBbw0Z
https://dl.doubtnut.com/l/_5HGttLAEi5Sm
https://dl.doubtnut.com/l/_ywKx6kuyZ0db
https://dl.doubtnut.com/l/_OijLBmLWjeUZ
https://dl.doubtnut.com/l/_iJsfrWMRrksK

12. If....is true and P(k) is true = P(k+1) is true, k > — 1, then for all

n € NU{0, — 1}, P(n) is true.

° Watch Video Solution

13. P(n) : n (n+1) is even number then P(3) =........

° Watch Video Solution

4. P(n):1> +2° +3 +..... —|—n2:%(n—|—1)(2n+1)n€N is

° Watch Video Solution

15. Statement P (n) : 10" + 3(4" *?) + 5is divisible by n = ......

° Watch Video Solution



https://dl.doubtnut.com/l/_iJsfrWMRrksK
https://dl.doubtnut.com/l/_A5JHU4tTBKDL
https://dl.doubtnut.com/l/_77P4bHgNioXA
https://dl.doubtnut.com/l/_iWRFxfkViQ3q
https://dl.doubtnut.com/l/_JOdt6reHb7vl

16. P(n) : n (n+1) is even number then P(3) =.........

° Watch Video Solution

17. P(n):2" > n?, forn =...itis true.

° Watch Video Solution

18. If a1, as, a3, . ..., a, 1 be (n+1) different prime numbers, then the

number of different factors (other than 1) of ai*, as - a3, .., a, 41 is

° Watch Video Solution

19. ... is the remainder if P (n) : 32"+2 _ 8n is divided by 64.

° Watch Video Solution



https://dl.doubtnut.com/l/_JOdt6reHb7vl
https://dl.doubtnut.com/l/_xhLZjNmZZMhi
https://dl.doubtnut.com/l/_ginErJD0qZTD
https://dl.doubtnut.com/l/_PlUUCWuTBUEf

20. Statement P(n):n® 4 3n® + 5n + 3 is multiple of .....smellest odd

number.

o Watch Video Solution

Complex Numbers And Quadratic Equations Fill In The Blanks

1.For some integer k, i4% 4 4h 1 4 g4k +2 4 j4k+3 o

..........

° Watch Video Solution

2(1—i) = (—146) = ...c.....

° Watch Video Solution

3. Multiplicative inverse of complex number z = 2 - i is ...

° Watch Video Solution



https://dl.doubtnut.com/l/_0VzxO7RzDXL7
https://dl.doubtnut.com/l/_wfmGsLSU6LV3
https://dl.doubtnut.com/l/_1ff7PIOPiEgc
https://dl.doubtnut.com/l/_4xZe3P7Rpkip

4.Express (5 — 3i)” in the form a+ib.

° Watch Video Solution

14
1—3

then 24 = . .

5.z

° Watch Video Solution

1 1 1
6.1f |z1| = |22] = |23] = z—l—l—z—2+z—3 = 1then |21 + 25 + 23| = ...

° Watch Video Solution

7.1f one complex number is in third quadrent then its conjugate complex

number is in .......... quadrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_4xZe3P7Rpkip
https://dl.doubtnut.com/l/_PAkM7A94YpRi
https://dl.doubtnut.com/l/_FSHJbwcilt9K
https://dl.doubtnut.com/l/_JiB93aGn9i1a
https://dl.doubtnut.com/l/_ZVN7rUBqI9pa
https://dl.doubtnut.com/l/_iyvrrHiFQ0SK

7r
8. Complex number with magnitude 2 and argument 3 IS = oo .

° Watch Video Solution

9.If z = (x,-y) then point (x,y) with respect to real axis is called.

° Watch Video Solution

10. What is the general form of the points which lie on X-axis?

° Watch Video Solution

N.if|zl=2and arg z = % thenz=...

° Watch Video Solution

12.1+) + (1 —4) =



https://dl.doubtnut.com/l/_iyvrrHiFQ0SK
https://dl.doubtnut.com/l/_Yh5KTtPUTREV
https://dl.doubtnut.com/l/_2u1DEmDnTBlP
https://dl.doubtnut.com/l/_TFNyFbLHSBOg
https://dl.doubtnut.com/l/_Uj3wveteVzPK

| ° Watch Video Solution

13. Find argument of the complex numbers z = /3 + ¢

° Watch Video Solution

14.1f (2+5i))z=(3-7i)thenz=..... .

° Watch Video Solution

1440100
15'|f(1—i) = z + iy then (xy) = ......

° Watch Video Solution

16. Conjugate of the complex number is then complex number is

1—13

............

° Watch Video Solution



https://dl.doubtnut.com/l/_Uj3wveteVzPK
https://dl.doubtnut.com/l/_yaU8cbNbP9tK
https://dl.doubtnut.com/l/_mCqa6MY24Uh8
https://dl.doubtnut.com/l/_qSejOTBCqvOy
https://dl.doubtnut.com/l/_YBrsI6jQ5fX4

° Watch Video Solution

1+ 24

18.In Argand figure complex number +_ : lies in ... quadrent.

° Watch Video Solution

_ ) a + ib 9 9
19.If z = x 4+ iy and = + iy = — then z* + y* = L
a—1

° Watch Video Solution

20. ... is the minimum value of n such that (1+i)* = (1 — i)™

Wheren € N.

° Watch Video Solution



https://dl.doubtnut.com/l/_YBrsI6jQ5fX4
https://dl.doubtnut.com/l/_7djHeZzWahP2
https://dl.doubtnut.com/l/_M6PSfMtQYuKN
https://dl.doubtnut.com/l/_p8URuxYIs9am
https://dl.doubtnut.com/l/_GvrAiO0gOSqE
https://dl.doubtnut.com/l/_CySvcBJvhBjE

21.For some integer k, §4F 4 461 4 j4k+2 4 k43 o

..........

° Watch Video Solution

22.(1—4) — (= 1446) = oo,

° Watch Video Solution

23. Multiplicative inverse of complex number z=2 - 3i is

............

° Watch Video Solution

24. Express (5 — 3i)* in the form a+ib.

° Watch Video Solution

...........



https://dl.doubtnut.com/l/_CySvcBJvhBjE
https://dl.doubtnut.com/l/_YdyWuEzMqljj
https://dl.doubtnut.com/l/_G6EJFcICpd6R
https://dl.doubtnut.com/l/_MpcAOixqmxrX
https://dl.doubtnut.com/l/_kturhXRAr3AK

| ° Watch Video Solution

1 1 1
26.|f|21| = |z2| = |z3| = z_ + — 4+ —
1

= 1then |21 + 22 + 23| = .
zZ9 z3

° Watch Video Solution

27. If one complex number is in third quadrent then its conjugate

complex number is in ... quadrent.

° Watch Video Solution

2w

28. Complex number with magnitude 2 and argument 3 IS = v .

° Watch Video Solution

29.If z = (x,-y) then point (x,y) with respect to real axis is called.



https://dl.doubtnut.com/l/_kturhXRAr3AK
https://dl.doubtnut.com/l/_BtLfgQqgs2Ov
https://dl.doubtnut.com/l/_1E4o0zy2gtwl
https://dl.doubtnut.com/l/_tIrNo8VMV8tS
https://dl.doubtnut.com/l/_JuzdPpmnZq3e

| &J Watch Video Solution I

30. ... Is the general form of the complex number of the point lies on

real axis . (i.e. X axis)

° Watch Video Solution

31.If|zl=2and arg z = %then Z=

° Watch Video Solution

32.(14+4)' + (1 —49) =

° Watch Video Solution

33.Find argument of the complex numbers z = /3 + i

° Watch Video Solution



https://dl.doubtnut.com/l/_JuzdPpmnZq3e
https://dl.doubtnut.com/l/_Be0yf5WefQ8z
https://dl.doubtnut.com/l/_S8Ms53wd1gqH
https://dl.doubtnut.com/l/_F3OQvUUY2Jgq
https://dl.doubtnut.com/l/_pszb1V6WEirW

34.If (2+5i)z=(3-7i)thenz=..... .

° Watch Video Solution

35.1If ( T ) = z + 1y then (xy) = ......
—1

° Watch Video Solution

36. Conjugate of the complex number is then complex number is

— 1

............

° Watch Video Solution



https://dl.doubtnut.com/l/_pszb1V6WEirW
https://dl.doubtnut.com/l/_D8CjbSZXCIOl
https://dl.doubtnut.com/l/_06VPD0yhxRss
https://dl.doubtnut.com/l/_1iKAZRRwetNk
https://dl.doubtnut.com/l/_GhxZpSJlCdJM
https://dl.doubtnut.com/l/_EQihEfZHXszL

1424
38.In Argand figure complex number R

lies in ....... quadrent.

—1

° Watch Video Solution

. . a+ b 2 .2
30.If z =2 + iy and x + iy = then 2” + ¢y~ = 1.

a—1

o Watch Video Solution

40. .. is the minimum value of n such that (14 7)™ = (1 — )™

Wheren € N.

o Watch Video Solution

Complex Numbers And Quadratic Equations True False Statement

1.1f (5,6) + z = (2,-1) then z = (3,77)

° Watch Video Solution



https://dl.doubtnut.com/l/_EQihEfZHXszL
https://dl.doubtnut.com/l/_ZIT2tArFj79L
https://dl.doubtnut.com/l/_2Ehiliy9tjQf
https://dl.doubtnut.com/l/_n3k0AS4abWUI

2.(0,2) .(0,2) =(0,4)

° Watch Video Solution

3.:9 +40 - 312= 4

° Watch Video Solution

4.For complex number z = 3 — 2i, 2 + z = 2iIm(z2) .

° Watch Video Solution

5. For complex number z=5 + 3ivalue z — z = 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_n3k0AS4abWUI
https://dl.doubtnut.com/l/_D0E8kmZDyrxd
https://dl.doubtnut.com/l/_kgBPGwUb0Vqe
https://dl.doubtnut.com/l/_GBXqLGzbYFjz
https://dl.doubtnut.com/l/_TfLOiYiwfKdN

6. Inverse of (7,0) does not exists.

o Watch Video Solution

7. The polar coordinate of complex number z = 1 + i./3 is <2, g) .

o Watch Video Solution

8. Equation having n degree has n solution.

o Watch Video Solution

a-+1b

9.Ifz =z + iy and = + iy = then 22 4+ 3% = 1.

a—1

o Watch Video Solution

10.1f (5,6) + z = (2,-1) then z = (3,77)


https://dl.doubtnut.com/l/_9ndDdMGXIhye
https://dl.doubtnut.com/l/_tw3fejXndUs4
https://dl.doubtnut.com/l/_PVRCwNxkgYuy
https://dl.doubtnut.com/l/_zbLjy1QLdDVp
https://dl.doubtnut.com/l/_la8Oc7bsOqFF

o Watch Video Solution

11.(0,2) . (0,2) = (0,4)

o Watch Video Solution

12,47 +410 - 312 = —4

o Watch Video Solution

13. For complex number z = 3 — 24, z + 2 = 2iIm/(z) .

o Watch Video Solution

14. For complex number z =5 + 3i value z — z = 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_la8Oc7bsOqFF
https://dl.doubtnut.com/l/_SUNHeIrcVcAS
https://dl.doubtnut.com/l/_CkNsI2aBwkzA
https://dl.doubtnut.com/l/_qxBEt2p5kyyC
https://dl.doubtnut.com/l/_yWOcSpjOJpOH
https://dl.doubtnut.com/l/_uhq2jnuLXzav

15. Inverse of (7,0) does not exists.

° Watch Video Solution

16. The polar coordinate of complex number z = 1 + i,/3 is (2, %) .

° Watch Video Solution

17. Equation having n degree has n solution.

° Watch Video Solution

a -+ b

a—1

18.If z = x 4+ iy and = + iy = then z2 + 9% = 1.

° Watch Video Solution

Linear In Equalities Fill In The Blanks


https://dl.doubtnut.com/l/_uhq2jnuLXzav
https://dl.doubtnut.com/l/_rUijEsOekuft
https://dl.doubtnut.com/l/_3gX64oBNWz9R
https://dl.doubtnut.com/l/_zteRdlNyFZpS
https://dl.doubtnut.com/l/_ZzJWtKZag0Jj

| Fp— is the solution set for inequality 3z + 8 > 2, x s real number.

° Watch Video Solution

2.if|z — 1| > bthenz € ............

° Watch Video Solution

3. ..... is the solution set of the given graph.

P
¢ ¢ + t ? P oo

° Watch Video Solution

4. .. is the minimum value of x which satisfy the in quality

2z + 4+ 3(x —5) > 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZzJWtKZag0Jj
https://dl.doubtnut.com/l/_l6Pjt3Buvb3q
https://dl.doubtnut.com/l/_kK3C5SgEvH3j
https://dl.doubtnut.com/l/_P2XXg29LzldV

LT~ is the necessary condition if solution region of ax + by + ¢ > 0

contains origin. (0,0) .

° Watch Video Solution

T+ 2 P L
3 > 1 the numbers of positive integral solution is

6. For inequality =

...........

° Watch Video Solution

7.23 -| 2x + 3| has maximum value ......cc.....

° Watch Video Solution



https://dl.doubtnut.com/l/_P2XXg29LzldV
https://dl.doubtnut.com/l/_7IBbHell46MO
https://dl.doubtnut.com/l/_O1A5fY5c9IN1
https://dl.doubtnut.com/l/_dF5QVhqAu9BU

8. .....is the inequality represented by following graph .

Y

~
N

3_._

2.._
1_._

Y

° Watch Video Solution

9. The number of NOT integral solution of the inequality

i:; > 0 are

° Watch Video Solution

2r — 5
10. If 0 <

< 7 and x is integer then sum of its maxi and

minimum value is ...

[ o |


https://dl.doubtnut.com/l/_vD9P5ZqMy0vF
https://dl.doubtnut.com/l/_k8NikOWJGoQC
https://dl.doubtnut.com/l/_bV5pxuenDsZa

I & Watch Video Solution

Ll R~ is the solution set for inequality 3z + 8 > 2, xis real number.

o Watch Video Solution

12.If [x — 1] > 5thenz € ............

o Watch Video Solution

13.......is the solution set of the given graph.

P
< & : - Q > oo
1 0 1 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_bV5pxuenDsZa
https://dl.doubtnut.com/l/_opJMUHQIuyOY
https://dl.doubtnut.com/l/_2IRZImXvegHY
https://dl.doubtnut.com/l/_18XSXWXcLF02

4. .. is the minimum value of x which satisfy the in quality

2c +4+3(x —5) > T

o Watch Video Solution

L - T— is the necessary condition if solution region of az + by +c¢ > 0

contains origin. (0,0) .

o Watch Video Solution

z+2 e _
3 > 1 the numbers of positive integral solution is

16. For inequality
x

o Watch Video Solution

17. 23 - | 2x + 3| has maximum value .............

o Watch Video Solution



https://dl.doubtnut.com/l/_ldFqIzxBAwuv
https://dl.doubtnut.com/l/_mSsoz63t4THh
https://dl.doubtnut.com/l/_sArJf6UGGAOP
https://dl.doubtnut.com/l/_82hnE0na6P9Q

18. ......is the inequality represented by following graph .

Y
-
pN
3_._
2.._
1_._
Ll - . 9
X o 1 2 > X
Y

° Watch Video Solution

x
19. The number of NOT integral solution of the inequality

$_9>0are

o Watch Video Solution

2
20. If 0 <

< 7 and x is integer then sum of its maxi and

minimum value is ...


https://dl.doubtnut.com/l/_82hnE0na6P9Q
https://dl.doubtnut.com/l/_q3Xy2xLBY41l
https://dl.doubtnut.com/l/_3YtbgKhY9Nvn
https://dl.doubtnut.com/l/_xxGaZDKP60DP

° Watch Video Solution

Linear In Equalities True False Statement

1.For x € N solutionsetofz + 2 < — 8is null set.

° Watch Video Solution

2.Inequality 3(x-1) + 2 (x-2) < 5(x + 2) is true foreachz € R.

° Watch Video Solution

3.Solutionsetof x > 3 and =z < 5,z € Ris [3,5]

° Watch Video Solution



https://dl.doubtnut.com/l/_xxGaZDKP60DP
https://dl.doubtnut.com/l/_FLx2V0nzvng3
https://dl.doubtnut.com/l/_HhBWc7vKOKXr
https://dl.doubtnut.com/l/_GSxsyeuAeXZN

4. Graph of inequalityx — 3 < 5 and 3z + 5 < 2z € Riis as follows

<O el — 3
-1 8

° Watch Video Solution

5.If [z — 2| < 3then —1 < z < b.

° Watch Video Solution

6. If

1
< Othen z > 4.
r—4

° Watch Video Solution

7.Solution set of inequality [t — 1] < — lissetR.

° Watch Video Solution



https://dl.doubtnut.com/l/_aTztoasljf0T
https://dl.doubtnut.com/l/_UxhbBReAGF3H
https://dl.doubtnut.com/l/_dEIfgpY5SonH
https://dl.doubtnut.com/l/_3airk6B9Jtzb

8.Forx € N solutionsetofz 4+ 2 < — 8is null set.

o Watch Video Solution

9.lnequality 3(z — 1) + 2(x — 2) < 5(z + 2) istrueforeachz € R.

o Watch Video Solution

10. Solution setof x > 3 and = < 5,x € R is [3,5]

o Watch Video Solution

1. Graph of inequalityz — 3 < 5 and 3z + 5 < 2z € R is as follows

<O el — 3
-1 8

° Watch Video Solution



https://dl.doubtnut.com/l/_2dBHQMof8jVT
https://dl.doubtnut.com/l/_q0Fk2hP1m4PA
https://dl.doubtnut.com/l/_yuwdjtKmWDRr
https://dl.doubtnut.com/l/_WxCFn4pT4bum

12.If |t — 2| < 3then —1 < z < 5.

o Watch Video Solution

1
13.If —— < Othenz > 4.
Tz —4

o Watch Video Solution

14. Solution set of inequality |[x — 1| < — lissetR.

o Watch Video Solution

Permutations And Combinations Fill In The Blanks

| Fp— are the numbers of words using the letters of word ROSE with its

meaning or without its meaning.

° Watch Video Solution



https://dl.doubtnut.com/l/_INf0R8kcb3uu
https://dl.doubtnut.com/l/_0ZmKIPDOYs1A
https://dl.doubtnut.com/l/_kCR2OFimvnSh
https://dl.doubtnut.com/l/_lqAJbOU5SZqU

n!
2.Evaluate ———  ,when n=5,r=2.
rl(n—r)!

° Watch Video Solution

1 1 T
3.f — 4+ — = —,find x.
8! 9! 10!

° Watch Video Solution

4.6P3—5P2= ......... .

° Watch Video Solution

= —thenn=.... (wheren > 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_lqAJbOU5SZqU
https://dl.doubtnut.com/l/_jQSGcPSZSlBn
https://dl.doubtnut.com/l/_dwPGe3SBLwr2
https://dl.doubtnut.com/l/_syFkOGFYeOE2
https://dl.doubtnut.com/l/_N9vvmHr7YCzE

6.1f (n + 1)! = 12(n — 1)! thenn =........ nenN

o Watch Video Solution

7.1fnPy:nP; = 1:2thenn=... .

o Watch Video Solution

8. If the repetation is not allowed then we get ... total numbers of 5

digits from the digits 0, 2,4,6 and 8.

o Watch Video Solution

9. s are the 9 digit numbers formed from the number with all digits

different.

o Watch Video Solution



https://dl.doubtnut.com/l/_vDeYb5x1JHVK
https://dl.doubtnut.com/l/_SKEGjfleBzPM
https://dl.doubtnut.com/l/_zeO0wSjLPSSH
https://dl.doubtnut.com/l/_JBwQ3oHPoyd7
https://dl.doubtnut.com/l/_ZBd1Z8bQhPJE

10. ... are the total numbers words formed by the letters of the word

'KUMAR' .

° Watch Video Solution

1. The managing director of 'KUMAR PRAKASHAN KENDRA' arranges an
exam of 100 marks to know the talent of student in Mathematics and
English Subjects. Each question has two option true and false. In ...

Numbers of ways student can answer the question.

° View Text Solution

12.n((n—1)P(r_1)) R .

° Watch Video Solution



https://dl.doubtnut.com/l/_ZBd1Z8bQhPJE
https://dl.doubtnut.com/l/_V9VGLxquY213
https://dl.doubtnut.com/l/_VIRqr3USL9cV

13, e are the total numbers of ways to make a password of 5 digit for
computer which contains 2 digits from computer which alphabet from 26

alphabets.

o Watch Video Solution

14. ... are the numbers of 7 digit formed by digits 3,4,5,4,5,5 and 9.

o Watch Video Solution

n
15.nPr+( ): .........
T

o Watch Video Solution

n n
16. If = thenn =..... .
12 8

o Watch Video Solution



https://dl.doubtnut.com/l/_FcPN3sRMU0f8
https://dl.doubtnut.com/l/_Y79OehlmbdnX
https://dl.doubtnut.com/l/_zMs4ZWZG2fUk
https://dl.doubtnut.com/l/_8s3t5SOQcPHt

17.If an = an, find n017.

o Watch Video Solution

Bt (Y= (% Vihen (7)) =
. ” = r+2 en 2 T iteeeee . .

o Watch Video Solution

19. Number of diagonal of the polygon having 10 sides = ..........

o Watch Video Solution

20. The numbers of rectangle formed by m horizontal and n vertical line

o Watch Video Solution



https://dl.doubtnut.com/l/_aF6UtoMp3rZw
https://dl.doubtnut.com/l/_nAMZerTRBOQC
https://dl.doubtnut.com/l/_nCB2BbP9NfcV
https://dl.doubtnut.com/l/_oQCvrom0Kp77

79
21.1f , is maximum then r = ......... .

° Watch Video Solution

22. There are 21 points on circle . The number of chord by joining there

points are ......... .

° Watch Video Solution

2n n
23.If =11 thenn = ...
(%) =n(3)

o Watch Video Solution

2n n
24.If = = 12thenn-=....
3 2

° Watch Video Solution



https://dl.doubtnut.com/l/_tVF8gu32mFd3
https://dl.doubtnut.com/l/_CVLxwkeArCDW
https://dl.doubtnut.com/l/_KgWckXxhMrBA
https://dl.doubtnut.com/l/_tSs1jAVBGbXG

25. A person has one currency not each of Rs 500, Rs 100, Rs 50 , Rs 20

and Rs 10 . Then in ......... numbers of ways he can made his payments .

° View Text Solution

26. ... are the numbers of words using the letters of word ROSE with its

meaning or without its meaning.

° Watch Video Solution

n!
27.Evaluate ———— ,whenn=5,r=2.
rlin—r)!

° Watch Video Solution

1 1 T
28.If — + — = — find x.
8! 9! 10!

° Watch Video Solution



https://dl.doubtnut.com/l/_FWqnaFyndjnD
https://dl.doubtnut.com/l/_NQJeogYJhTei
https://dl.doubtnut.com/l/_VvqIKYQJGP3S
https://dl.doubtnut.com/l/_GW4D6k6e0HT4
https://dl.doubtnut.com/l/_mCtqB7n7atod

29.6P3—5P2= ......... .

o Watch Video Solution

’I’LP4 5
— thenn=... (wheren > 4)

30, — =

o Watch Video Solution

31If(n+ 1)! = 12(n — 1)! then n = ......... neN

o Watch Video Solution

32.f nPy:nP; = 1:2thenn =... .

o Watch Video Solution



https://dl.doubtnut.com/l/_mCtqB7n7atod
https://dl.doubtnut.com/l/_RPuEkxYoi24j
https://dl.doubtnut.com/l/_3zVngBIxVVgh
https://dl.doubtnut.com/l/_wyxJi6MQWh1v

33. If the repetation is not allowed then we get ... total numbers of 5

digits from the digits 0, 2,4,6 and 8.

° Watch Video Solution

34. . are the 9 digit numbers formed from the number with all digits

different.

° Watch Video Solution

35, e are the total numbers words formed by the letters of the word

'KUMAR' .

° Watch Video Solution

36.1n an examination, there are three multiple choice questions and each

question has four choices. Number of ways in which a student can fail to


https://dl.doubtnut.com/l/_iFco3yGasti1
https://dl.doubtnut.com/l/_gzFSrItXdgqE
https://dl.doubtnut.com/l/_yTa717YhAHSG
https://dl.doubtnut.com/l/_bCUuRgPii8RQ

get all answers correct, is

° Watch Video Solution

37.n((n— 1)P(,._1)) T eeeceiiiiieanes .

° Watch Video Solution

38. ... are the total numbers of ways to make a password of 5 digit for
computer which contains 2 digits from computer which alphabet from 26

alphabets.

° Watch Video Solution

39......... are the numbers of 7 digit formed by digits 3,4,5,4,5,5 and 9.

° Watch Video Solution



https://dl.doubtnut.com/l/_bCUuRgPii8RQ
https://dl.doubtnut.com/l/_bXYgJOd0RXQA
https://dl.doubtnut.com/l/_FLbANnT8ukxu
https://dl.doubtnut.com/l/_QKvLklKz9auf

o Watch Video Solution

n n
41.1f = thenn =.... .
12 8

° Watch Video Solution

42, |fn09 = an, find n017.

° Watch Video Solution

ot ()= () wen (3) -

° Watch Video Solution

44.Number of diagonal of the polygon having 10 sides =



https://dl.doubtnut.com/l/_ZMzyiPL5dDFT
https://dl.doubtnut.com/l/_cdMwtC9bDMn7
https://dl.doubtnut.com/l/_yawJ7fljvPRT
https://dl.doubtnut.com/l/_FkDoCwWBJcKh
https://dl.doubtnut.com/l/_1ccNzblD7aoo

° Watch Video Solution

45. The numbers of rectangle formed by m horizontal and n vertical line

° Watch Video Solution

79\ . ,
46. If , is maximum then r = ......... .

° Watch Video Solution

47. There are 21 points on circle . The number of chord by joining there

points are ... .

° Watch Video Solution



https://dl.doubtnut.com/l/_1ccNzblD7aoo
https://dl.doubtnut.com/l/_lQKE4zqOBGLD
https://dl.doubtnut.com/l/_iVegshy6rvPH
https://dl.doubtnut.com/l/_ni3wFmNEGlvb
https://dl.doubtnut.com/l/_ykLeRmeqeo5j

° Watch Video Solution

49, If L (m = 12th =
. 3 )Ty = enn-=...

° Watch Video Solution

50. A person has one currency not each of Rs 500, Rs 100, Rs 50 , Rs 20

and Rs 10.Then in ... numbers of ways he can made his payments .

° View Text Solution

Permutations And Combinations True False Statement

1.If an even can occur in m ways and corresponding to each way another
event can occur in p ways, then total number of occurrence of events is

m.p.

° Watch Video Solution



https://dl.doubtnut.com/l/_ykLeRmeqeo5j
https://dl.doubtnut.com/l/_KEKAYjAuwjvE
https://dl.doubtnut.com/l/_xjBQbyMxZmlW
https://dl.doubtnut.com/l/_vCdKG1qtUt9O

2. If repetation is allowed then n objects can be arranged in r places is n.r.

° Watch Video Solution

3.n(A)= m, n (B) = n. The total number of non empty relation from A to B

° Watch Video Solution

4.Total numbers of 4 digits numbers using digits 5,2,3,7 and 8 are 620.

° Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_vCdKG1qtUt9O
https://dl.doubtnut.com/l/_Z10PapQ2weqS
https://dl.doubtnut.com/l/_HfqhYVhSVB84
https://dl.doubtnut.com/l/_9uFPJtUnaWIE
https://dl.doubtnut.com/l/_2zbECfDtCfsv
https://dl.doubtnut.com/l/_mH4qzxNnJkXO

6.7 persons can sit on round table for discussion in 7! ways.

° Watch Video Solution

(1) (") = ()

o Watch Video Solution

8.If(n):(n>then"0’2: ....... .
5 13

o Watch Video Solution

9. The product of two consecutive positive integers is always divisible by

o Watch Video Solution



https://dl.doubtnut.com/l/_mH4qzxNnJkXO
https://dl.doubtnut.com/l/_6BPNKeNyafZw
https://dl.doubtnut.com/l/_oLn0ew62nDOD
https://dl.doubtnut.com/l/_gOtfLFONzlr5

(") o2 (") (M) (")

° Watch Video Solution

11.If an even can occur in m ways and corresponding to each way another
event can occur in p ways, then total number of occurrence of events is

m.p.

° Watch Video Solution

12. If repetation is allowed then n objects can be arranged in r places is

n.r.

o Watch Video Solution

13. Let n(A) =5 and n(B) = 3 then find the number of injective

functions and onto functions from A to B.



https://dl.doubtnut.com/l/_SCCAYjhq1S1R
https://dl.doubtnut.com/l/_usRVSXHwcdff
https://dl.doubtnut.com/l/_ps9hjDtGUP5b
https://dl.doubtnut.com/l/_8NvYDO0oqDx7

| o Watch Video Solution

14. Total numbers of 4 digits numbers using digits 5,2,3,7 and 8 are 620.

o Watch Video Solution

° Watch Video Solution

16. 7 persons can sit on round table for discussion in 7! ways.

° Watch Video Solution

(1) (7)) = ()

° Watch Video Solution



https://dl.doubtnut.com/l/_8NvYDO0oqDx7
https://dl.doubtnut.com/l/_pHuOztCmrBLJ
https://dl.doubtnut.com/l/_HFwq7cz80UMX
https://dl.doubtnut.com/l/_CXoCWPiJo2Mj
https://dl.doubtnut.com/l/_WkqzUIzPrJlC
https://dl.doubtnut.com/l/_Y0UPULyN5ZIG

18. If Yo (" then "Cy = ....... .
5 13

° Watch Video Solution

19. The product of two consecutive positive integers is always divisible by

..........

° Watch Video Solution

zo.<:>+2- (:J*(rg)

° Watch Video Solution

Binomial Theorem Fill In The Blanks

5
1. The numbers of terms in the expansion [(x + 4y)4] (-

(")

o Watch Video Solution



https://dl.doubtnut.com/l/_Y0UPULyN5ZIG
https://dl.doubtnut.com/l/_5LATyasiyRmm
https://dl.doubtnut.com/l/_keVZs5As4IUl
https://dl.doubtnut.com/l/_TDil9lS39wZE

2. Number of terms in expansion.

(a:2 —dz + 4)g are ... )

o Watch Video Solution

1000 1000
) )

3. Number of terms in expansion (z + y +(z—y are ... :

o Watch Video Solution

. 10 10—7r T
4.2_:0 )2 =

° Watch Video Solution

5.The coefficient of z™ and z" in the expansion of (1 + z)™ " are ...

° Watch Video Solution



https://dl.doubtnut.com/l/_TDil9lS39wZE
https://dl.doubtnut.com/l/_f06cIerIOfOe
https://dl.doubtnut.com/l/_NJoijgvYzU7z
https://dl.doubtnut.com/l/_yZgIOZ5Xt71W
https://dl.doubtnut.com/l/_55qrsz0DPOTw

2n
1
6. Middle term in the expansion (x + —) ([ .
x

° Watch Video Solution

7.2"" — 3n — 1is divisible by ... .

° Watch Video Solution

o (1) (5)+ (5) # e+ (") = e

o Watch Video Solution

5
9. The numbers of terms in the expansion [(a: it 4y)4] -

o Watch Video Solution



https://dl.doubtnut.com/l/_aPeUJ5hKT7QP
https://dl.doubtnut.com/l/_fTbQGAGFz2uT
https://dl.doubtnut.com/l/_D2pYimHHSx2F
https://dl.doubtnut.com/l/_mI6YLpk8NMBq

10. Number of terms in expansion.

(mz — 4z + 4)9 are ... )

o Watch Video Solution

1 1
000 000 ar

(S .

11. Number of terms in expansion (z +y) + (x — y)

o Watch Video Solution

16
10 .
12.) ( ).210—7“(—5) S
r=0 r

° Watch Video Solution

13. The coefficient of z™ and z" in the expansion of (1 + )™ " are

° Watch Video Solution



https://dl.doubtnut.com/l/_vMnM8oLyfCFI
https://dl.doubtnut.com/l/_AUiUGr2vzapl
https://dl.doubtnut.com/l/_8A6sLyQ4R4bA
https://dl.doubtnut.com/l/_mql2xKzIro9o

14. Middle term in the expansion (

T+ —

1 )271 .
IS .....
x

o Watch Video Solution

15.2*" — 3n — 1is divisible by ...... .

o Watch Video Solution

o (1) (2) e () bt (1

° Watch Video Solution

Binomial Theorem True False Statement

(0)- () + (2) -

3

4

.........



https://dl.doubtnut.com/l/_smHIEeK0PCy3
https://dl.doubtnut.com/l/_Tl4mKQAW7obK
https://dl.doubtnut.com/l/_Qfu19N1Af59D
https://dl.doubtnut.com/l/_AHWjrjRz4EPa

° Watch Video Solution

2. The sum of the coefficients in the expansion of (a + b)" is 4096. Then

...... Is the biggest coefficient .

° Watch Video Solution

3. Numbers of terms in expansion (2z + 3y + 4z) are 8.

° Watch Video Solution

8
1

4. .. is the middle term in expansion of (23: + 2—) .
x

° Watch Video Solution

5.Sum of the coefficient in expansion (z + y + 2)" is 3".

° Watch Video Solution



https://dl.doubtnut.com/l/_AHWjrjRz4EPa
https://dl.doubtnut.com/l/_LVdX70mvUQZ0
https://dl.doubtnut.com/l/_EP7H6szNATDv
https://dl.doubtnut.com/l/_xfiBhkwg1whn
https://dl.doubtnut.com/l/_FtBnh3dptJvb

6. Sum of the power of a and b in expansion (a + b)" is n .

° Watch Video Solution

7. Difference of (r+1) term from beginning and (r+1) term from last in

n . n
expansion (a + b)" is 2 < ) .
7

° View Text Solution

8. Coefficient of 2* in expansion (1 + z)" is 20 thenn = 6.

° Watch Video Solution

9. The coefficient of T5 and T}y in expansion (1 + z)" are equal then n =

14.

° Watch Video Solution



https://dl.doubtnut.com/l/_FtBnh3dptJvb
https://dl.doubtnut.com/l/_NP5TAInuqhuL
https://dl.doubtnut.com/l/_WR6IsSGZnp9s
https://dl.doubtnut.com/l/_TPUTZ0cxWmRW
https://dl.doubtnut.com/l/_8TeXbD4ApSfx

0 () ()0 () b (2)

° Watch Video Solution

° Watch Video Solution

12. The sum of the coefficients in the expansion of (a + b)" is 4096. Then

...... Is the biggest coefficient .

° Watch Video Solution

13. Numbers of terms in expansion (2z + 3y + 42)7 are 8.



https://dl.doubtnut.com/l/_8TeXbD4ApSfx
https://dl.doubtnut.com/l/_sHoGdPX8u8Cp
https://dl.doubtnut.com/l/_5slXAfHOcHCu
https://dl.doubtnut.com/l/_fSPqZVnMdG40
https://dl.doubtnut.com/l/_ExBi8jHkUbOt

I ° Watch Video Solution

1 8
4. .. is the middle term in expansion of (290 + %) .

° Watch Video Solution

15. Sum of the coefficient in expansion (z + y + 2)" is 3" .

° Watch Video Solution

16. Sum of the power of a and b in expansion (a + b)" isn .

° Watch Video Solution

17. Difference of (r+1) term from beginning and (r+1) term from last in

expansion (a 4 b)" is 2 <n> :
7

I o View Text Solution


https://dl.doubtnut.com/l/_ExBi8jHkUbOt
https://dl.doubtnut.com/l/_xh9Doui2xbwp
https://dl.doubtnut.com/l/_3L1E71RCiMfx
https://dl.doubtnut.com/l/_5aSHuJk2KTvA
https://dl.doubtnut.com/l/_0KDlsCCjV36F

18. Coefficient of 2 in expansion (1 + z)" is 20 then n = 6.

° Watch Video Solution

19. The coefficient of T5 and Tig in expansion (1 4+ z)" are equal then n

= 14.

° Watch Video Solution

20.(2) - () () b () 2

° Watch Video Solution

Sequence And Series Fill In The Blanks

| F—— is the 20™ term of sequence a,, = (n — 1)(2 — n)(n — 3).



https://dl.doubtnut.com/l/_0KDlsCCjV36F
https://dl.doubtnut.com/l/_ciXFkXhVDxX4
https://dl.doubtnut.com/l/_zynfEaD4X6dk
https://dl.doubtnut.com/l/_A1MwbsqZwKk9
https://dl.doubtnut.com/l/_Sb0z5momYyXC

° Watch Video Solution

° Watch Video Solution

3.9 term of arithmetic sequence is 30 then sum of its 17 terms ... .

° Watch Video Solution

4. Third term of arithmetic sequence is 9 and tenth term is 21. Then sum

of its 12 termis ........... .

° Watch Video Solution

5. For arithmetic sequence a=2and a5 = 14 thend = ......

° Watch Video Solution



https://dl.doubtnut.com/l/_Sb0z5momYyXC
https://dl.doubtnut.com/l/_OlhMMvXfXVrT
https://dl.doubtnut.com/l/_N2iaW9gp8a0v
https://dl.doubtnut.com/l/_mHSIhxcBMkPJ
https://dl.doubtnut.com/l/_nZqKxutChucW

6. For arithmetic sequence ag = 23 common difference d = 5 then a =

...............

° Watch Video Solution

7.For arithmetic sequencea=2and a5 = 14 thend =

........

° Watch Video Solution

8.Foran APa=20and | =97 then Sy, =

° Watch Video Solution

9.If a, b, and c are in AP then (a +2b—¢). (2b+c—a).(c+a—0b) =

..............

° Watch Video Solution



https://dl.doubtnut.com/l/_nZqKxutChucW
https://dl.doubtnut.com/l/_Efma8CaqjxeW
https://dl.doubtnut.com/l/_cIHRB57s97gB
https://dl.doubtnut.com/l/_oiTS8CpL13QI
https://dl.doubtnut.com/l/_C1d4NZJJv7sy

10. For arithmetic sequence ai, as, as

a; + as + ajg + a5 + agyy + a9y = 225 then 894 = ceieiiinanns

........

° Watch Video Solution

1.1f 25,x -6 and x-12 are in G.Pthen x = ........ (o] g— .

° Watch Video Solution

12. Third term of G.P.is 3 then product of its first 5 terms is

.........

° Watch Video Solution

13. Eighth term of G.P is 128 and common ratio is r = 2 then product of

first 5 terms =......... .

° Watch Video Solution



https://dl.doubtnut.com/l/_C1d4NZJJv7sy
https://dl.doubtnut.com/l/_qQjZiPYVVeL9
https://dl.doubtnut.com/l/_R80N4UIPGIwx
https://dl.doubtnut.com/l/_kBLDvdqgyanB
https://dl.doubtnut.com/l/_ms2j6mDBLZEi

14. For an G.P. a = 16 and fifth term is 81 then common ratio ........

° Watch Video Solution

15. How many terms of G.P. 3, 32, 3% .. are needed to give the sum 1207

° Watch Video Solution

16. Find the 20th and nth term of the GP.

ooooooooo

° Watch Video Solution

17. A, and A, are arithmetic mean between a and b also G; and G5 are

G1.Gy
Ay + 4,

geometric mean then

° Watch Video Solution



https://dl.doubtnut.com/l/_ms2j6mDBLZEi
https://dl.doubtnut.com/l/_TQzYk4z2qaep
https://dl.doubtnut.com/l/_QPJ6DiufDVL5
https://dl.doubtnut.com/l/_Q4BUTKbvnMLs
https://dl.doubtnut.com/l/_ZTIW7R3SeXpN

18. For numbers 6 and 24,A-G = .......

o Watch Video Solution

19. 10 is Geometric mean between 5 and x then x = ......... Wherexz € R" .

o Watch Video Solution

20. 12 is arithmetic mean between x and 22 then x =.............

o Watch Video Solution

21. 10 arithmetic mean between a and b are A, Ay, As......... A then

A1+A2+A3+ .......... -+A1(]: ....... .

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTo2inaA1dMO
https://dl.doubtnut.com/l/_1EGjrzWJIhjt
https://dl.doubtnut.com/l/_hkASCguH2YuY
https://dl.doubtnut.com/l/_lq1qyhiNxcD9

23.) (2r41) = ...

o Watch Video Solution

1 1 1
24.Sum oftheseriesl — — 4+ — — — + ............ 00 = vevrnnnns
2 2 23
° Watch Video Solution
25. ... is the 20” term of sequence a,, = (n — 1)(2 — n)(n — 3).

° Watch Video Solution

9 15

26.3, 5,6,


https://dl.doubtnut.com/l/_YYLOaM51G5Hj
https://dl.doubtnut.com/l/_slVrqcrmsa2U
https://dl.doubtnut.com/l/_ZiPBXt8K825H
https://dl.doubtnut.com/l/_mfnuzkhsNyVk
https://dl.doubtnut.com/l/_v8MqbUFDnST6

° Watch Video Solution

27.9% term of arithmetic sequence is 30 then sum of its 17 terms .......... .

° Watch Video Solution

28.Third term of arithmetic sequence is 9 and tenth term is 21. Then sum

of its 12 termis ........... .

° Watch Video Solution

29. For arithmetic sequencea=2and a5 = 14 thend =.......

° Watch Video Solution

30. For arithmetic sequence ag = 23 common difference d = 5 then a =

...............



https://dl.doubtnut.com/l/_v8MqbUFDnST6
https://dl.doubtnut.com/l/_QnPuAiEx12Zh
https://dl.doubtnut.com/l/_kysaYqJCvcGO
https://dl.doubtnut.com/l/_5c4WMmPN4VYz
https://dl.doubtnut.com/l/_3LL23K63nWBA

| ° Watch Video Solution

31. For arithmetic sequence

° View Text Solution

32.Foran APa=20and | =97 then Sy = ..........

° Watch Video Solution

33.If a,b,and care in AP then (a +2b—¢). (26 +c—a). (c+a —b) =

..............

° Watch Video Solution

34, For arithmetic sequence a1, A9, A3 e If

a; + as + ajg + ags + ayy + a9y = 225 then 894 = ceceiniinnns



https://dl.doubtnut.com/l/_3LL23K63nWBA
https://dl.doubtnut.com/l/_39eL4pE9U6Nx
https://dl.doubtnut.com/l/_N8EVdx5W3FwU
https://dl.doubtnut.com/l/_s00HUkjmSMbd
https://dl.doubtnut.com/l/_KfGqUx2HN0dn

& Wwatch Video Solution I

35.1f 25,x -6 and x - 12 are in G.P then x = ......... (o] S— .

° Watch Video Solution

36. Third term of G.P. is 3 then product of its first 5 terms is ...........

° Watch Video Solution

37. Eighth term of G.P is 128 and common ratio is r = 2 then product of

first 5 terms =......... .

° Watch Video Solution

38.For an G.P. a =16 and fifth term is 81 then common ratio ........

° Watch Video Solution



https://dl.doubtnut.com/l/_KfGqUx2HN0dn
https://dl.doubtnut.com/l/_IDdBtx1JxTsr
https://dl.doubtnut.com/l/_JOwmCL2g3LAO
https://dl.doubtnut.com/l/_LnIvyOlCfzDJ
https://dl.doubtnut.com/l/_iwaIQriMXxoR

39. How many terms of G.P. 3, 32, 3% .. are needed to give the sum 1207

° Watch Video Solution

5 5
40. For an geometric seq. 7

° Watch Video Solution

41. A; and A, are arithmetic mean between a and b also G; and G, are

G1.Gy
Ay + 4,

geometric mean then

o Watch Video Solution

42.For numbers 6 and 24, A-G =.......

o Watch Video Solution



https://dl.doubtnut.com/l/_iwaIQriMXxoR
https://dl.doubtnut.com/l/_9Cel3yMSyee1
https://dl.doubtnut.com/l/_T7dqQORnQpfK
https://dl.doubtnut.com/l/_nQfCBveDebLZ
https://dl.doubtnut.com/l/_dwJwglwKfhwS
https://dl.doubtnut.com/l/_Ee5wZre3agM9

43.10 is Geometric mean between 5 and x then x = ......... Wherexz € RT .

o Watch Video Solution

44,12 is arithmetic mean between x and 22 then x =.............

o Watch Video Solution

45. 10 arithmetic mean between a and b are A1, Ao, As......... A then

Ay +As + As + .......... A =....... .

o Watch Video Solution

46. I Zn — 55 then Zn2 S

o Watch Video Solution



https://dl.doubtnut.com/l/_Ee5wZre3agM9
https://dl.doubtnut.com/l/_GRGVWNZRebGF
https://dl.doubtnut.com/l/_KQ5iSpXK7SYY
https://dl.doubtnut.com/l/_1qOKFGjWuR0A

47. (2r +1) =

.......

o Watch Video Solution

1 1 1
48.Sum of theseries1 — — 4+ — — — + ............ 00 = cvenn...
2 92 9

° Watch Video Solution

Sequence And Series True False Statement

1. a and b are non zero real numbers and n € N then a, = a + bn

represent arithmetic sequence.

° Watch Video Solution

2. By multiplying each term by non zero constant we get geometric

sequence .



https://dl.doubtnut.com/l/_37zZ7fGk3ohP
https://dl.doubtnut.com/l/_VKYtDny9xfOY
https://dl.doubtnut.com/l/_rsMUnBzNhsqH
https://dl.doubtnut.com/l/_Z0kSLCieIwov

° Watch Video Solution

3. Ay, Ay, As.......... . A, are arithmetic mean between two number a

andbthena Ay, Ay, cevvvennnnne. An , b becomes arithmetic sequence.

° Watch Video Solution

a”™ + b" .
4.1f ——— is the A.M. between a and b, then find the value of n.
an—l + bn—l

° Watch Video Solution

5. First term a and common ratio r = 1 then sum of n terms on G.P. is

S, = na.

° Watch Video Solution



https://dl.doubtnut.com/l/_Z0kSLCieIwov
https://dl.doubtnut.com/l/_ad86erXrat2b
https://dl.doubtnut.com/l/_LeY8tM7ZcdX9
https://dl.doubtnut.com/l/_MfWPtAoX7Pmx

6. Third term and sixth term of geometric sequence is 24 and 192

respectively then r = 34.

° Watch Video Solution

7. A person has 2 parents, 4 grandparents, 8 great grandparents, and so
onFind the number of his ancestors during the ten generations

preceding his own.

° Watch Video Solution

8. a and b are non zero real numbers and n € N then a,, = a + bn

represent arithmetic sequence.

° Watch Video Solution



https://dl.doubtnut.com/l/_bAzcEy6Gw6gV
https://dl.doubtnut.com/l/_piq9Yi2Mpm8y
https://dl.doubtnut.com/l/_qq2FcYQSetqY

9. By multiplying each term by non zero constant we get geometric

sequence .

° Watch Video Solution

10. A, Ay, As.......... . A,, are arithmetic mean between two number a

andbthena Ay, Ay, cevvvennnnnnn. An , b becomes arithmetic sequence.

° Watch Video Solution

an-i—l + bn+1

1. Find the value of n so that —————— may be the geometric mean
a” + bn

between a and b.

° Watch Video Solution

12. First term a and common ratio r = 1 then sum of n terms on G.P. is

S, =na.



https://dl.doubtnut.com/l/_Xb1wfokCk989
https://dl.doubtnut.com/l/_UzRrs2XPYG84
https://dl.doubtnut.com/l/_84GtzL3hF795
https://dl.doubtnut.com/l/_m5yypigqB2mD

| Y Watch Video Solution

13. Third term and sixth term of geometric sequence is 24 and 192

respectively then r = 34.

° Watch Video Solution

14. A person has 2 parents, 4 grandparents, 8 great grandparents, and so
on.Find the number of his ancestors during the ten generations

preceding his own.

° Watch Video Solution

Straight Lines Fill In The Blanks

1. Find the slope of the lines :

Passing through the points (3, —2) and ( —1,4)

| o A _L vl . o e~ ..


https://dl.doubtnut.com/l/_m5yypigqB2mD
https://dl.doubtnut.com/l/_X0QwwGkR0UEm
https://dl.doubtnut.com/l/_muVNyCN7z5Ym
https://dl.doubtnut.com/l/_dLGiEEXo1fNk

L vvallll vIiUCO o0IULIVII

2. Find the angle between the X-axis and the line joining the points

(3, —1) and (4, — 2).

o Watch Video Solution

3. Find x if the slope of the Iline passes

)
A(z,2) and B(6, — 8) is -7

from points

o Watch Video Solution

4. Obtain the equation of the line which satisfying given condition :

(1) Passes from points A( — 1, 8) and B(4, — 2).

o Watch Video Solution

5.P — a form of the line z + /3y — 4 = Oiis.....


https://dl.doubtnut.com/l/_dLGiEEXo1fNk
https://dl.doubtnut.com/l/_xN87aTckSboW
https://dl.doubtnut.com/l/_p2eevcceYR6D
https://dl.doubtnut.com/l/_7131m0E3ZLhq
https://dl.doubtnut.com/l/_BNS2HGo4ocx3

° Watch Video Solution

6. If a + b+ c =0 then line 3ax + by + ¢ = 0 passes from .. of the

following point.

° Watch Video Solution

..........

7.1f the points A(k, 2k) B(2k, 3k)C(3, 1) are collinear then k =

° Watch Video Solution

8. A(6,4) and B(2,12) are given points . Then slope of line perpendicular to

° Watch Video Solution



https://dl.doubtnut.com/l/_BNS2HGo4ocx3
https://dl.doubtnut.com/l/_CQCQA7gBOQyE
https://dl.doubtnut.com/l/_4gpeCtCKI8u6
https://dl.doubtnut.com/l/_eSwOoLErZ1Hv

9. By shifting origin at ... Point the co - ordinates of (7,2) becomes

(-1,3).

o Watch Video Solution

10.1f (a + 1)z + (a® — a — 2)y + a = 0 line is parallel to X - axis then a

o Watch Video Solution

M.If line (a + 4)z + (a2 —9)y + (a — 4) = 0 passes from origin then a

o Watch Video Solution

12. Find k if lines 5z — ky — 7 =0 and 2z + 3y + 5 = 0 are mutually

perpendicular.



https://dl.doubtnut.com/l/_rIBgNhSB8MpP
https://dl.doubtnut.com/l/_MIA6giKCCJUB
https://dl.doubtnut.com/l/_qK7MKVbZJf2l
https://dl.doubtnut.com/l/_Z4GwcRdWlLzo

| & Watch Video Solution I

13. Angle between the lines x +y=0and y=5 s ...

o Watch Video Solution

14.If the lines 5z — ky + 3 = 0 and 4z — 3y — 4 = 0 are parallel then k

o Watch Video Solution

™
15. Equation of line passes from (2,-3) and makes an angle 7 with X - axis

o Watch Video Solution



https://dl.doubtnut.com/l/_Z4GwcRdWlLzo
https://dl.doubtnut.com/l/_QwhsqaVDEkAG
https://dl.doubtnut.com/l/_GqTyTdqIq5AA
https://dl.doubtnut.com/l/_86yWvMfAgS0y

16. Perpendicular distance from (—3, —4) to the line

12z — 5y + 81 = O is .........

° Watch Video Solution

17. Perpendicular distance between

3z +4y—5=0 and 6x + 8y — 15 =0is .....

° Watch Video Solution

18. .. is the equation of lines passes from (2,4) and makes equal

intercept an axis.

° Watch Video Solution

= — is the transform form of equation z? — y? — 2z + 2y = 0 by

shifting origin at (1,1)

| e |


https://dl.doubtnut.com/l/_CM4lvAZwPurd
https://dl.doubtnut.com/l/_2RQBFaf1ge44
https://dl.doubtnut.com/l/_MrjpGP4H87oS
https://dl.doubtnut.com/l/_GaYmAMfghoB5

| &J Watch Video Solution I

™
20. ... is the equation of line which makes an angle 3 with X - axis

having y- intersept 3.

o Watch Video Solution

21. Find the slope of the lines :

Passing through the points (3, —2) and ( — 1,4)

o Watch Video Solution

22. Find the angle between the X-axis and the line joining the points

(3, — 1) and (4, — 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_GaYmAMfghoB5
https://dl.doubtnut.com/l/_pBOtGK9ZuWoU
https://dl.doubtnut.com/l/_nUQGSZXLfopX
https://dl.doubtnut.com/l/_IZWIgyswUSaV

23. Find x if the slope of the line passes from points

)
A(z,2) and B(6, — 8) is e

° Watch Video Solution

24. Obtain the equation of the line which satisfying given condition :

(1) Passes from points A( — 1,8) and B(4, — 2).

° Watch Video Solution

25. . is the value of w to represent line 1/3z + y = 10 in normal

form.

° Watch Video Solution

26.1f a + b+ c = 0 then line 3az + by + ¢ = 0 passes from ... of the

following point.

| e |


https://dl.doubtnut.com/l/_WBYHNi3vKETu
https://dl.doubtnut.com/l/_LfzgvH22OOXj
https://dl.doubtnut.com/l/_JLnnFF3OT0Vo
https://dl.doubtnut.com/l/_KV1PtzM0xOt1

| & Watch Video Solution I

27.1f the points A(k, 2k) B(2k, 3k)C(3, 1) are collinear then k = ........ .

o Watch Video Solution

28.A(6,4) and B(2,12) are given points . Then slope of line perpendicular to

° Watch Video Solution

29. By shifting origin at .......... Point the co - ordinates of (7,2) becomes

(-1,3).

° Watch Video Solution



https://dl.doubtnut.com/l/_KV1PtzM0xOt1
https://dl.doubtnut.com/l/_XFLiuro8tCgv
https://dl.doubtnut.com/l/_HsS6fz3nXs1O
https://dl.doubtnut.com/l/_9QHCrl39LcHl

30.1f (a + 1)z + (a2 —a— 2)y + a = 0line is parallel to X - axis then a

o Watch Video Solution

31.Ifline (a + 4)z + (a2 — 9)y + (a — 4) = 0 passes from origin then a

o Watch Video Solution

32. Find k if lines bz — ky — 7 =0 and 2z + 3y + 5 = 0 are mutually

perpendicular.

o Watch Video Solution

33. Angle between the lines x+y=0and y=5is ..........

o Watch Video Solution



https://dl.doubtnut.com/l/_tGsYNIsHeJ6N
https://dl.doubtnut.com/l/_MuUqivoiKOR3
https://dl.doubtnut.com/l/_kKPViwWNLX8N
https://dl.doubtnut.com/l/_ogN2NISL2CxV

34.If the lines bz — ky + 3 = 0 and 4= — 3y — 4 = 0 are parallel then k

o Watch Video Solution

35. Equation of line passes from (2,-3) and makes an angle % with X - axis

o Watch Video Solution

36. Perpendicular distance from (—3, —4) to the line

122 — 5y + 81 = 0 v

o Watch Video Solution



https://dl.doubtnut.com/l/_ogN2NISL2CxV
https://dl.doubtnut.com/l/_dRcj70fUXSIc
https://dl.doubtnut.com/l/_kz72Y4r3MLIh
https://dl.doubtnut.com/l/_FoVEjOVD6yk6

37. If perpendicular distance between lines

3z +4y+ 10 =0 and 6m+8y+k:0is;unitthen K= .

° Watch Video Solution

38. .. is the equation of lines passes from (2,4) and makes equal

intercept an axis.

° Watch Video Solution

39. .. is the transform form of equation z? — y? — 2z + 2y = 0 by

shifting origin at (1,1)

° Watch Video Solution

™
40. ........... is the equation of line which makes an angle 3 with X - axis

having y- intersept 3.

| e |


https://dl.doubtnut.com/l/_JA20VRJtrz7P
https://dl.doubtnut.com/l/_zwZUNpgBrETU
https://dl.doubtnut.com/l/_nqlZcRE9WmvZ
https://dl.doubtnut.com/l/_gtLJTifBVScR

| & Watch Video Solution

Straight Lines True False Statement

1. Slope of line is non zero real number .

° Watch Video Solution

2.Slope of line passes from point A(3,-2) and B(3,7) is zero .

° Watch Video Solution

3. P — a form of the line z + /3y — 4 = O is.......

° Watch Video Solution



https://dl.doubtnut.com/l/_gtLJTifBVScR
https://dl.doubtnut.com/l/_r7WFMpWNJdKL
https://dl.doubtnut.com/l/_frpRwMOaCk5P
https://dl.doubtnut.com/l/_1qtYXYsXGiUU

) and parallel to Y - axis is 2x

no| ot

3
4. Equation of line passes from A( — 5

-5=0.

° Watch Video Solution

5. Origin is shifted at (1,6) and new co - ordinate of point A is (1,3) then old

co - ordinates are (2,9) .

° Watch Video Solution

6. x intercept of line 4x + 3y - 12 is 3.

° Watch Video Solution

7.Slope of line passes from (3,k) and (2,7) is 2 then k=7.

° Watch Video Solution



https://dl.doubtnut.com/l/_MRoAnLFSTCKd
https://dl.doubtnut.com/l/_BUL89GRukVWe
https://dl.doubtnut.com/l/_oAfGayURqOEh
https://dl.doubtnut.com/l/_x9701hDHGTS6
https://dl.doubtnut.com/l/_V7nGUJJbYeNQ

8. Length of perpendicular from origin to the line l:z — /3y + 4 =0 is

4 unit.

° Watch Video Solution

9.Slope of line is non zero real number .

° Watch Video Solution

10. Slope of line passes from point A(3,-2) and B(3,7) is zero .

° Watch Video Solution

M. P — aform of thelinez + /3y — 4 = O is.......

° Watch Video Solution



https://dl.doubtnut.com/l/_V7nGUJJbYeNQ
https://dl.doubtnut.com/l/_YiPH774oBcHI
https://dl.doubtnut.com/l/_orrrIHfBjUXI
https://dl.doubtnut.com/l/_SZL8PizcJgqE

> and parallel to Y - axis is

N ot

3
12. Equation of line passes from A( ~ 5

2x-5=0.

° Watch Video Solution

13. Origin is shifted at (1,6) and new co - ordinate of point A is (1,3) then

old co - ordinates are (2,9) .

° Watch Video Solution

14. x intercept of line 4x + 3y - 12 is 3.

° Watch Video Solution

15. Slope of line passes from (3,k) and (2,7) is 2 then k=7.

° Watch Video Solution



https://dl.doubtnut.com/l/_61JB0EfSIh01
https://dl.doubtnut.com/l/_zxVK1ijPnvJ4
https://dl.doubtnut.com/l/_kd5oWE11Zax2
https://dl.doubtnut.com/l/_J569dvt5zgdf
https://dl.doubtnut.com/l/_aWFdhwT71L8E

16. Length of perpendicular from origin to the linel:xz — /3y +4 = 0'is

4 unit.

° Watch Video Solution

Conic Sections Fill In The Blanks

1. Radius of circle with centre C(3,4) and passes from O(0,0) is r = .......... .

° Watch Video Solution

2. AB is diameter of circle with centre (4,2) . If point A is (-3,2) . Then

second end point is ....cc.....

° Watch Video Solution

3. Area of circle with centre (1,2) and passes from (4,6) is .........



https://dl.doubtnut.com/l/_aWFdhwT71L8E
https://dl.doubtnut.com/l/_cJGbFlDdWITD
https://dl.doubtnut.com/l/_EtjCCF6sbqSI
https://dl.doubtnut.com/l/_bcyRt5h3NoWK

| Y Watch Video Solution

4. Coordinates of centre of circle passes from (0,0) , (a,0) and (0,b) is ...

° Watch Video Solution

5 e is the standard equation of circle with centre (1,0) and its

circumterence is 10.

° Watch Video Solution

6. AB joining A(1,k) and B(3,5) is diameter of circle with centre C(h,3) then

° Watch Video Solution



https://dl.doubtnut.com/l/_bcyRt5h3NoWK
https://dl.doubtnut.com/l/_cGAaxkT2mXTE
https://dl.doubtnut.com/l/_Ddjln6Ha4u9n
https://dl.doubtnut.com/l/_wuf4aFjKlQjg

7. Radius of circle which touches X - axis at (3,0) and cuts a chord at

length 8 unit on Y - axis is ........

° Watch Video Solution

8. Minimum distance of the line 3z + 4y — 50 = 0 from the point lies on

A.2
B.5
C.1

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CwRWnTAH6sc9
https://dl.doubtnut.com/l/_qZ2s59IkiwiN

9.length of latus rectum of parabola y*> = 4ax which passes from (3,2) is

° Watch Video Solution

10. L and L' are end points of latus rectum of parabola y*> = 4az and M'

and M are foot of perpendiculars from there points to line x = 0 then are

° Watch Video Solution

11. Vertex of parabola (y — 3)% = 2(z 4 1) i$ e

° Watch Video Solution

12.(5,2) and (3,4) are end points of latus rectums then its focii is ......... .

° Watch Video Solution



https://dl.doubtnut.com/l/_MxHlRHecm06W
https://dl.doubtnut.com/l/_O0bxeHEVu3F7
https://dl.doubtnut.com/l/_eEDHRrLHQMqj
https://dl.doubtnut.com/l/_02uRHnHrLLFY

13. Eccentricity of ellipse is ... if length of latus rectum is half then minor

axis.

° Watch Video Solution

14. Eccentricity e of ellipse is ... if length of minor axis is distance

between its focii.

° Watch Video Solution

15. Find the coordinates of the foci, the vertices, the length of major axis,

the minor axis, the eccentricity and the latus rectum of the ellipse

332

2
Yy
AT a—T
5+9

o Watch Video Solution



https://dl.doubtnut.com/l/_02uRHnHrLLFY
https://dl.doubtnut.com/l/_00kPKJ0E9XUT
https://dl.doubtnut.com/l/_psAFFcWi1jHb
https://dl.doubtnut.com/l/_VJcqfJXswVnz

16. Length of latus rectum of ellipse 422 4+ 9y = 1is .......... .

o Watch Video Solution

17. Length of major axis of ellipse 25z + 9y* = 1is ....... .

o Watch Video Solution

18. Focii of hyperbola 9z% — 16y® = 144 s .......

o Watch Video Solution

19. Find the corrdinates of the foci and the vertices, the eccentricity, the

length of the latus rectum of the hyperbolas :

2 2

. ac__y__ .. 2 2
(i) 9 16 =1(i)y 16z° = 16

° Watch Video Solution



https://dl.doubtnut.com/l/_IcgBB57L6acx
https://dl.doubtnut.com/l/_LOCPYAu0fLFY
https://dl.doubtnut.com/l/_ByDfkNtIEPui
https://dl.doubtnut.com/l/_QRK7lzKDvffZ
https://dl.doubtnut.com/l/_LgTI7CsP2CJK

20. Eccentricity of hyperbola 16y? — 922 = 144 is ...

° Watch Video Solution

21. Eccentricity of 22 — 4y = 1is ...

° Watch Video Solution

22. Length of latus rectum of ellipse 5z + 9y = 25 is ... .

° Watch Video Solution

23. ... is the eccentricity of ellipse if distance between focii is 6 unit and

length of minor axis is 8 unit .

° Watch Video Solution



https://dl.doubtnut.com/l/_LgTI7CsP2CJK
https://dl.doubtnut.com/l/_fw6udVHlEJDy
https://dl.doubtnut.com/l/_O1b9c6I1g49a
https://dl.doubtnut.com/l/_qjr0RktkYuCs

24.If the ratio of major and minor axis of ellipse is 5: 3 then eccentricity e

o Watch Video Solution

25. Length of the conjugate axis of 122% — 3y> = — 36is .......

o Watch Video Solution

26. If the equation (a — 3)z® + 9y®> = 4 represents the rectangular

hyperbola then a = ... .

o Watch Video Solution

27. Radius of circle with centre C(3,4) and passes from O(0,0) is r = ......... .

o Watch Video Solution



https://dl.doubtnut.com/l/_2q7QRh9FtZFv
https://dl.doubtnut.com/l/_hmR7cLFPuZUD
https://dl.doubtnut.com/l/_Q2qexM2b3jpR
https://dl.doubtnut.com/l/_Fyz5StOUGZpt
https://dl.doubtnut.com/l/_Rv23mq39rmSZ

28. AB is diameter of circle with centre (4,2) . If point Ais (-3,2) . Then

second end point is ............

o Watch Video Solution

29. Area of circle with centre (1,2) and passes from (4,6) is ..........

o Watch Video Solution

30. Coordinates of centre of circle passes from (0,0) , (a,0) and (0,b) is

o Watch Video Solution

3. .. is the standard equation of circle with centre (1,0) and its

circumterence is 107r.

o Watch Video Solution



https://dl.doubtnut.com/l/_Rv23mq39rmSZ
https://dl.doubtnut.com/l/_ZwqYfeZEkDLY
https://dl.doubtnut.com/l/_MUFOGwkFfLnW
https://dl.doubtnut.com/l/_MvVLSe9vDwAM

32. AB joining A(1,k) and B(3,5) is diameter of circle with centre C(h,3)

then hand k=......

° Watch Video Solution

33. Radius of circle which touches X - axis at (3,0) and cuts a chord at

length 8 unit on Y - axis is ........

° Watch Video Solution

34. Minimum distance of the line 3z + 4y — 50 = 0 from the point lies
on circle 22 4+ ¢ = 25 is ...

A.2

B.5

C.1

D.4


https://dl.doubtnut.com/l/_MvVLSe9vDwAM
https://dl.doubtnut.com/l/_tUxPMZDA4Azw
https://dl.doubtnut.com/l/_54Vmwqi9Djmn
https://dl.doubtnut.com/l/_SQlQwDS0Xcbi

Answer: B

° Watch Video Solution

35. length of latus rectum of parabola y? = 4az which passes from (3,2)

[E— .

o Watch Video Solution

36. L and L are end points of latus rectum of parabola y? = 4az and M'
and M are foot of perpendiculars from there points to line x = 0 then are

of LLM'M = .........

o Watch Video Solution

37. Vertex of parabola (y — 3)% = 2(z + 1) is .......

o Watch Video Solution



https://dl.doubtnut.com/l/_SQlQwDS0Xcbi
https://dl.doubtnut.com/l/_KcHWNCmsv50b
https://dl.doubtnut.com/l/_DnU14AvIBAV7
https://dl.doubtnut.com/l/_l57iLun32PL2

38.(5,2) and (3,4) are end points of latus rectums then its focii is ....... .

o Watch Video Solution

39. Eccentricity of ellipse is ... if length of latus rectum is half then

minor axis.

o Watch Video Solution

40. Eccentricity e of ellipse is .. if length of minor axis is distance

between its focii.

o Watch Video Solution

41. Eccentricity of ellipse 922 + 25y* = 225 is ......

o Watch Video Solution



https://dl.doubtnut.com/l/_HGnnQ4anzZqI
https://dl.doubtnut.com/l/_TVRwNxKIzlX8
https://dl.doubtnut.com/l/_AGV69NQWlKxi
https://dl.doubtnut.com/l/_PMcSsGROq3Lx
https://dl.doubtnut.com/l/_ZJyIJ9aFZuEr

42. Length of latus rectum of ellipse 422 4 9y = 1is .......... .

o Watch Video Solution

43, Length of major axis of ellipse 252> + 9y = 1is ....... .

o Watch Video Solution

44, Focii of hyperbola 922 — 16y* = 144 is ........

o Watch Video Solution

45, Length of latus rectum of hyperbola 162% — 9y = 144 is ........ .

o Watch Video Solution

46. Eccentricity of hyperbola 163> — 92> = 144 is ...



https://dl.doubtnut.com/l/_ZJyIJ9aFZuEr
https://dl.doubtnut.com/l/_IbIUq2xIlsJH
https://dl.doubtnut.com/l/_VsI3Ef1YUxbf
https://dl.doubtnut.com/l/_IIZEihy2r9cz
https://dl.doubtnut.com/l/_mH1bSPDK3PgI

_ o Watch Video Solution

47. Eccentricity of 2% — 4y? = 1is ........

o Watch Video Solution

48. Length of latus rectum of ellipse 522 + 9y* = 25 is ........ .

o Watch Video Solution

49. ... is the eccentricity of ellipse if distance between focii is 6 unit and

length of minor axis is 8 unit .

o Watch Video Solution

50. If the ratio of major and minor axis of ellipse is 5: 3 then eccentricity e



https://dl.doubtnut.com/l/_mH1bSPDK3PgI
https://dl.doubtnut.com/l/_7nX7XJY5CgJd
https://dl.doubtnut.com/l/_IRq4wZT8gaZL
https://dl.doubtnut.com/l/_3ZkvaU2FEHi7
https://dl.doubtnut.com/l/_10PSDxLC1J7b

| &J Watch Video Solution I

51. Length of the conjugate axis of 122> — 3y*> = — 36is .......

o Watch Video Solution

52. If the equation (a — 3)z? + 9y®> = 4 represents the rectangular

hyperbola then a = ... .

o Watch Video Solution

Conic Sections True False Statement

1. Radius of the circle touches X - axis = |x co - ordinate of centre |.

° Watch Video Solution



https://dl.doubtnut.com/l/_10PSDxLC1J7b
https://dl.doubtnut.com/l/_3K3fxqKEXYBw
https://dl.doubtnut.com/l/_sXi7xyoc4e1U
https://dl.doubtnut.com/l/_daMCpmPH3XQL

2.Radius of the circle z? + y* + 8z + 10y = 8 is 7 unit.

o Watch Video Solution

3. Eccentricity of curve given equation y? = 9zis 1.

o Watch Video Solution

4. Equation of directrix of parabola 20 = zis8x+1=0

o Watch Video Solution

5. Semi vertical angle of cone is « . Plane intersects vertical axis at an

angle 8 .If a = [ then cross section of cone is parabola.

o Watch Video Solution



https://dl.doubtnut.com/l/_3rhBuBW2unpe
https://dl.doubtnut.com/l/_oU9VmMxX5Ewx
https://dl.doubtnut.com/l/_4gRW6Jr5agRK
https://dl.doubtnut.com/l/_vKGbNTVks4ZJ

2 P
6. Ellipse % + 9 = 1 is symmetric about Y - axis.

° Watch Video Solution

7.(5,10) and (5,-10) are end points of latus rectum of parabola y2 = 20z .

° Watch Video Solution

8.t € R parametric equation of parabola are z = at* and y = 2at.

° Watch Video Solution

2 2 2
. . T . 2a
9. Length of latus rectum of ellipse is el + LA Tis —.

a? 0]

° Watch Video Solution

10. Equation x =4 cos § and y = 3sin6, § € ( — m, 7) denotes ellipse .


https://dl.doubtnut.com/l/_yocFbacHdROj
https://dl.doubtnut.com/l/_oiOXg3ysci5X
https://dl.doubtnut.com/l/_eg7vx8Zmze05
https://dl.doubtnut.com/l/_1uUw40Z92S0s
https://dl.doubtnut.com/l/_rt9K9gy8MkcK

° Watch Video Solution

11. Curve having eccentricity 4/2 is a rectangular hyperbola.

° Watch Video Solution

12. Radius of the circle touches X - axis = |x co - ordinate of centre |.

° Watch Video Solution

13. Radius of the circle 2° + y* + 8z + 10y = 8 is 7 unit.

° Watch Video Solution

14. Eccentricity of curve given equation y* = 9z is 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_rt9K9gy8MkcK
https://dl.doubtnut.com/l/_Oncsoano4mzS
https://dl.doubtnut.com/l/_isaRzN9TAxoF
https://dl.doubtnut.com/l/_5srveZBUz5pd
https://dl.doubtnut.com/l/_Ge7amgToGyJX
https://dl.doubtnut.com/l/_gkmLy1eKp2GV

15. Equation of directrix of parabola 2y? = z is 8x+1=0

° Watch Video Solution

16. Semi vertical angle of cone is « . Plane intersects vertical axis at an

angle 8 .If @ = [ then cross section of cone is parabola.

° Watch Video Solution

2

2
x
17. Ellipse %5 + % = 1is symmetric about Y - axis.

° Watch Video Solution

18. (5,10) and (5,-10) are end points of latus rectum of parabola y2 = 20z .

° Watch Video Solution



https://dl.doubtnut.com/l/_gkmLy1eKp2GV
https://dl.doubtnut.com/l/_YMrnIburL9zq
https://dl.doubtnut.com/l/_QunuRR6LjFDV
https://dl.doubtnut.com/l/_fwEqqG02ippJ

19.t € R parametric equation of parabola are z = at? and y = 2at.

o Watch Video Solution

oar Y _ 2a?
20. Length of latus rectum of ellipse is W + =5 = e Tis —.
a

° Watch Video Solution

21.Equation x=4 cos § and y = 3sinf, § € ( — m, 7) denotes ellipse .

° Watch Video Solution

22. Curve having eccentricity /2 is a rectangular hyperbola.

° Watch Video Solution

Introduction To Three Dimensional Geometry Fill In The Blanks



https://dl.doubtnut.com/l/_5GivLSbyivLk
https://dl.doubtnut.com/l/_ktiRZ5Z2VNUl
https://dl.doubtnut.com/l/_wMJVulWoWQS8
https://dl.doubtnut.com/l/_OuG1p1ZAylhV

1. Find the octant in which the point (-3, 1, 2) and (-3, 1, -2) lie.

o Watch Video Solution

2.y co - ordinate of the point lies on X - axis is ..........

o Watch Video Solution

3.1f P (1,-3,4) and Q (-4,1,2) are given then d(PQ) = unit.

o Watch Video Solution

4. Find the coordinates of the point which divides the line segment
joining the points (1, -2, 3) and (3, 4, -5) in the ratio 2 : 3 (i) internally, and

(ii) externally.

o Watch Video Solution



https://dl.doubtnut.com/l/_dIycxV607tFs
https://dl.doubtnut.com/l/_k643DPpLEWOc
https://dl.doubtnut.com/l/_SGA3tqdGt3vm
https://dl.doubtnut.com/l/_3ip5o06f3WQ5
https://dl.doubtnut.com/l/_d3wYVQlTVCZt

5.The coordinates of points in the XY-plane are of the form

o Watch Video Solution

6. Centroid of the triangle with verticies P(1, -2, 1), Q(2, 3, -1) and R(1, -1, -1)

o Watch Video Solution

7.The centroid of the triangle with verticies A(1, 1, 1), B(2, 1, 2) and C(x, Y, z)

is 0(0, 0, 0) then (x,y, z) =

o Watch Video Solution

8.In R® equation x? + y* = Orepresents

o Watch Video Solution



https://dl.doubtnut.com/l/_d3wYVQlTVCZt
https://dl.doubtnut.com/l/_o3GAntzi9RyF
https://dl.doubtnut.com/l/_h9hr7mi4bwjt
https://dl.doubtnut.com/l/_1ruSFKcsGFmi
https://dl.doubtnut.com/l/_iAORShKsVjuS

9.L is the foot of the perpendicular drawn from a point (3, 4, 5) on X-axis.

The coordinates of Lare

° Watch Video Solution

10. If the distance between the points (a, 0, 1) and (0, 1, 2) is \/2_7, then the

value of a is

° Watch Video Solution

11. Perpendicular distance from origin to point (3,4,5) is ......... .

° Watch Video Solution

12. Find the co-ordinates of a point on Y-axis which are at a distance of

5\/5 from the point P(3, -2, 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_iAORShKsVjuS
https://dl.doubtnut.com/l/_o1VwU5XUMOQ9
https://dl.doubtnut.com/l/_FdnCvdkthfjd
https://dl.doubtnut.com/l/_5souxTfdmvfg

13. Point (-3,1,-2) is iN ... octant.

o Watch Video Solution

14.y co - ordinate of the point lies on X - axis is ...

o Watch Video Solution

15.1f P (1,-3,4) and Q (-4,1,2) are given then d(PQ) = unit.

o Watch Video Solution

16. Find the coordinates of the point which divides the line segment
joining the points (1, -2, 3) and (3, 4, -5) in the ratio 2 : 3 (i) internally, and

(ii) externally.

o Watch Video Solution



https://dl.doubtnut.com/l/_9WGMWIhP8C5w
https://dl.doubtnut.com/l/_XW12jxRWpjaQ
https://dl.doubtnut.com/l/_2ihqroZNhkSe
https://dl.doubtnut.com/l/_KdDVgHXYllec
https://dl.doubtnut.com/l/_CXWcC5WeiVO7

17. The coordinates of points in the XY-plane are of the form

o Watch Video Solution

18. Centroid of the triangle with verticies P(1, -2, 1), Q(2, 3, -1) and R(1, -1, -1)

o Watch Video Solution

19. The centroid of the triangle with verticies A(1, 1, 1), B(2, 1, 2) and C(x, y,

z) is 0(0, 0, 0) then (x,y,z) =

o Watch Video Solution

20.In R? equation 2 +yP =0 represents

o Watch Video Solution



https://dl.doubtnut.com/l/_CXWcC5WeiVO7
https://dl.doubtnut.com/l/_0wp9fdn551Ls
https://dl.doubtnut.com/l/_whH3pzTqP8os
https://dl.doubtnut.com/l/_EiAvsfiumSxz
https://dl.doubtnut.com/l/_4MpkiPNPRliJ

21. L is the foot of the perpendicular drawn from a point (3, 4, 5) on X-axis.

The coordinates of Lare

° Watch Video Solution

22.If the distance between the points (a, 0,1) and (0, 1, 2) is \/2_7, then the

value of a is

° Watch Video Solution

23. Perpendicular distance from origin to point (3,4,5) is ... .

° Watch Video Solution

24. Find the co-ordinates of a point on Y-axis which are at a distance of

5\/5 from the point P(3, -2, 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_4MpkiPNPRliJ
https://dl.doubtnut.com/l/_cnU2qjicOLIi
https://dl.doubtnut.com/l/_9eEJmjlygjyh
https://dl.doubtnut.com/l/_xgpVHhmQRkCJ

Introduction To Three Dimensional Geometry True False Statement

1.X and Z - axis together makes Y plane.

° Watch Video Solution

2. Co - ordinates of the point in YZ plane are in the form of (a,y,z) where

a € R—{0}.

° Watch Video Solution

3.The perpendicular distance of point P(x,y,z) from XY plane is (x+y).

o Watch Video Solution

4. Point (-4,2,-5) lies in third octant.

o Watch Video Solution



https://dl.doubtnut.com/l/_YwkbS3LWmuer
https://dl.doubtnut.com/l/_f2puspCo2heo
https://dl.doubtnut.com/l/_yEEat9w3h2m7
https://dl.doubtnut.com/l/_nLndRIB493dj

5.The three coordinate planes divide the space into __ parts.

° Watch Video Solution

6. XOY'Z represents third octant.

° Watch Video Solution

7. If point P divided line segment joining  points

A(z1,y1, z1) and B(xs, s, 22) in ratio k: 1then co - ordinates on P.

° Watch Video Solution

8. Find the ratio in which the line segment joining the points (4, 8, 10) and

(6,10, -8) is divided by the YZ-plane.

° Watch Video Solution



https://dl.doubtnut.com/l/_nLndRIB493dj
https://dl.doubtnut.com/l/_tjp1TZEfto0X
https://dl.doubtnut.com/l/_LqYB09wCoXtZ
https://dl.doubtnut.com/l/_DN3JVbNpcWnd
https://dl.doubtnut.com/l/_u86QLnrcJjmO

9.X and Z - axis together makes Y plane.

o Watch Video Solution

10. Co - ordinates of the point in YZ plane are in the form of (a,y,z) where

a € R—{0}.

o Watch Video Solution

11. The perpendicular distance of point P(x,y,z) from XY plane is (x+y).

o Watch Video Solution

12. Point (-4,2,-5) lies in third octant.

o Watch Video Solution



https://dl.doubtnut.com/l/_JKJ1D70cDsFl
https://dl.doubtnut.com/l/_WsZvGe7Z0zPb
https://dl.doubtnut.com/l/_S8PJJSj77Z2q
https://dl.doubtnut.com/l/_9bDh65J0MPOJ

13. The three coordinate planes divide the space into ___ parts.

o Watch Video Solution

14.XOY'Z represents third octant.

o Watch Video Solution

15. If point P divided line segment joining  points

A(z1, y1, 21) and B(za, Yo, 22) in ratio k: 1then co - ordinates on P.

o Watch Video Solution

16. YZ plane divides line segment joining (4,8,10) and (6,10,-8) in ratio

—2:3.

o Watch Video Solution



https://dl.doubtnut.com/l/_OGROO1GEmTEj
https://dl.doubtnut.com/l/_xlKWORRWitl2
https://dl.doubtnut.com/l/_e88yzV9Bkwqk
https://dl.doubtnut.com/l/_2u95rFyHgeOP

Limits And Derivatives Fill In The Blanks

1. lim {az+x2+x3+ .......... +x10}= ......
1

z— —

o Watch Video Solution

2.Ar — 2then area of circle with radius r = ......

o Watch Video Solution

. az® +bx® +cx +d
3. lim =
z—0 (a—I—l)x—l—b

° Watch Video Solution

. sinx
4, lim Z s
r—T m — X

° Watch Video Solution



https://dl.doubtnut.com/l/_gYSRqIBGL1uh
https://dl.doubtnut.com/l/_xLSRDdJKMrO5
https://dl.doubtnut.com/l/_1cWXl4NRG6tF
https://dl.doubtnut.com/l/_u3D8imtEs2FU
https://dl.doubtnut.com/l/_wyaf1L5KDeSO

. sinz — 2sin(3z) + sin(5z)
5. lim =
x—0 T

o Watch Video Solution

7
6. lim x+1= ..... .
t— -1 g8 — 1

o Watch Video Solution

. sin(z°)
7. lim = ...
r—0 X

o Watch Video Solution

8.If f(3)=2 then lim _ f(z® — 1) = e
T—2

o Watch Video Solution

sin(7r cos? x)

9, lim ——— = =...
z—0 .’L’2


https://dl.doubtnut.com/l/_wyaf1L5KDeSO
https://dl.doubtnut.com/l/_W9OwAKat6LJl
https://dl.doubtnut.com/l/_AjbqV5936TKw
https://dl.doubtnut.com/l/_ybEG3EZVvK5p
https://dl.doubtnut.com/l/_E5uEXn1nTnpm

° Watch Video Solution

. z+z2+z22+...+29-10
10. lim
r—1 r—1

° Watch Video Solution

sinx 1

1. lim
z—0 €T

o Watch Video Solution

12. Find the derivative

flz)=1+z+2>+2*+...+2° at =z =1.

of

o Watch Video Solution

1B.fy = (ﬁ—l—%) (ﬁ— %) then;l—z= ..... .

| o A _L vl . o ~_ ..o


https://dl.doubtnut.com/l/_E5uEXn1nTnpm
https://dl.doubtnut.com/l/_xaCkCbFn3O9z
https://dl.doubtnut.com/l/_ozPfD1vmxppu
https://dl.doubtnut.com/l/_uL9NuFU54OLu
https://dl.doubtnut.com/l/_9VXPZaz0Sbzy

L vvallll vIiUCO o0IULIVII

1—cosz

sin® z

14.Ify = then A .
x

o Watch Video Solution

d
15.Ify = % + % then d_y =
T
° Watch Video Solution

16. If f(x)=x sin x then f’ (%) = e

° Watch Video Solution

17. f(z) = 2® + 32> + 3z + 1then f(X) =......

° Watch Video Solution



https://dl.doubtnut.com/l/_9VXPZaz0Sbzy
https://dl.doubtnut.com/l/_m6l0uMn5GvYq
https://dl.doubtnut.com/l/_auCst4udwt7s
https://dl.doubtnut.com/l/_qNWiZx3absuK
https://dl.doubtnut.com/l/_aywEAxLuD9wu
https://dl.doubtnut.com/l/_zttrkBKzLKT8

18.1f then 0
Uy =2 — || eN — e Lx <

o Watch Video Solution

19. If f(x) = az® + bx + 12, f'(2) = 11 and f'(4) = 15 then possible

value of aand b are. ........... .

o Watch Video Solution

20. lim {a:+:c2—|—w3—l— .......... +x10}= ......

rz— —1

o Watch Video Solution

21.Ar — 2 then area of circle with radius r=......

o Watch Video Solution



https://dl.doubtnut.com/l/_zttrkBKzLKT8
https://dl.doubtnut.com/l/_vSfYpa3y3efe
https://dl.doubtnut.com/l/_sHeEbZ8Tclsy
https://dl.doubtnut.com/l/_RKb0jyAtufTX

) ax® +bx? +cx+d
22. lim = e
z—0 (a + ].)l’ + b

o Watch Video Solution

. sinx
23. lim =

T—oT T — X

o Watch Video Solution

sinz — 2sin(3z) + sin(5x
24, lim ( ) ( ) =
z—0 xXr

o Watch Video Solution

T4+1
25. lim z S v s
z——-1 28 — 1

o Watch Video Solution

. sin(z°)
26. lim ———=...
z—0 x


https://dl.doubtnut.com/l/_GnfcGjRmIdcL
https://dl.doubtnut.com/l/_mO1UcCNhC0w1
https://dl.doubtnut.com/l/_OOA4zcNxdJZU
https://dl.doubtnut.com/l/_NMhZfxiIF0Oo
https://dl.doubtnut.com/l/_B9gn4rvAkkby

o Watch Video Solution

27.If f(3)=2 then lim f(:v2 — 1) S J—
z—2

o Watch Video Solution

sin(m cos? z)

28. lim ———M >~ =...
z—0 $2

o Watch Video Solution

2 3 10
20, lim r+zxzé+zx+...+zx 10
rz—1 :c—l

o Watch Video Solution

sinw_]_

30. lim
z—0 X

o Watch Video Solution



https://dl.doubtnut.com/l/_B9gn4rvAkkby
https://dl.doubtnut.com/l/_5eEMmsF5zSS7
https://dl.doubtnut.com/l/_FIj6nkffn1yZ
https://dl.doubtnut.com/l/_pScCYSuCr1CU
https://dl.doubtnut.com/l/_BOQ45j4f9kyw

31. Find the derivative

flz)=1+z+2>+2*+...+2° at z =1

of

o Watch Video Solution

32.Ify = (ﬁ—k%) (ﬁ— i) then 3_3/: ..... .

° Watch Video Solution

1 — cos®x dy

33.0fy = ——— then — =.....
sin’ dz

° Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_j6XB5qzH2pOW
https://dl.doubtnut.com/l/_zcWT4RtgauNt
https://dl.doubtnut.com/l/_RyzGRjzNXsJ6
https://dl.doubtnut.com/l/_yfrftOR2G6xU
https://dl.doubtnut.com/l/_uxj8p4B8RfwE

. ™
35, If f(x)=x sin x then f’ (5) _—

o Watch Video Solution

36. f(x) = ° + 3z + 3z + 1 then f(x) = ...

o Watch Video Solution

dy
37.f y = ¢ — |z| then —............. L <0
dz

o Watch Video Solution

38. If f(x) = az® + bz + 12, f'(2) = 11 and f'(4) = 15 then possible

value of aand b are. ............ .

o Watch Video Solution

Limits And Derivatives True False Statement


https://dl.doubtnut.com/l/_uxj8p4B8RfwE
https://dl.doubtnut.com/l/_ST181i1gxozZ
https://dl.doubtnut.com/l/_zJgx6DMDAwrQ
https://dl.doubtnut.com/l/_VUxZ3M4blIay

) 1 — cos(2z)
1. lim —==0.
z—0 2

o Watch Video Solution

2.If f(z) = x — [z] then lim f(x)=4.

r—4.5

o Watch Video Solution

. ||
3. lim —
z—0+ &

o Watch Video Solution

o Watch Video Solution

5. Derivative of f(x) = sin x at point x=0is 1.


https://dl.doubtnut.com/l/_vahigjYGK998
https://dl.doubtnut.com/l/_boKmPCyg5ZGL
https://dl.doubtnut.com/l/_hj46ReYekuHG
https://dl.doubtnut.com/l/_uqfYgy6Y3kaA
https://dl.doubtnut.com/l/_oLAvBOiMnroo

° Watch Video Solution

6.1f f(z) — g(x) is constant then f'(x) = g'(x)

° Watch Video Solution

7.1f i(f(m))" = n(f(z))" ! df(=) then 4 (sin’ z) = 3sin’z. cos z.
dz dx x

° Watch Video Solution

8. If di(m + |2]). 2] = 4z where z > 0
X

° Watch Video Solution

o 1im N =@ ().

Tr—a r —Qa

o Watch Video Solution



https://dl.doubtnut.com/l/_oLAvBOiMnroo
https://dl.doubtnut.com/l/_AXDhlQvSiuRz
https://dl.doubtnut.com/l/_9YVcxFvHm4gV
https://dl.doubtnut.com/l/_5eNKO8XUeVOF
https://dl.doubtnut.com/l/_1d22DHvlAwHY

wherea > 1€ R™

10. i (alogax/i> =

dx 2,/

° Watch Video Solution

i 1 — cos(2z)
. lim —— =0.
z—0 a}z

° Watch Video Solution

12.If f(z) = = — [z] then lim f(x)=4.

r—4.5

° Watch Video Solution

. |z|
13. lim —
r—04+ X

° Watch Video Solution



https://dl.doubtnut.com/l/_UGjmDyc8TbCI
https://dl.doubtnut.com/l/_7O02Jdz55dI4
https://dl.doubtnut.com/l/_fDLd46QtdDEu
https://dl.doubtnut.com/l/_sj8pznjcmUhg

T

14. lim (e)

=2
x—>06m+1 €

° Watch Video Solution

15. Derivative of f(x) = sin x at point x =0 is 1.

° Watch Video Solution

16.If f(z) — g(z) is constant then f'(x) = g'(x)

° Watch Video Solution

d n n—1 df(m)
17. if —(f(@))" = n(f(2)" = then

— (sin3 a:) = 3sin® z. cos z.

dx

° Watch Video Solution



https://dl.doubtnut.com/l/_NRzxUyGK8gfq
https://dl.doubtnut.com/l/_O7QyqI0FP5do
https://dl.doubtnut.com/l/_uodi9NZDtzQ1
https://dl.doubtnut.com/l/_tBQyenwAAvkK

d
18. Ifd—(a: + |z|). |x| = 4z wherex > 0
x

o Watch Video Solution

10, lim 2@ /(@)

T—a r —a

= f(a) = (a)f"(a).

o Watch Video Solution

d = 1
20. —(aloga‘/m) = — wherea >1€ R"
dz 2\/x

° Watch Video Solution

Mathematical Reasoning Fill In The Blanks

1. The negation of the statement "3 is odd or 3 is prime" is ......

° Watch Video Solution



https://dl.doubtnut.com/l/_iNqs86P6LknP
https://dl.doubtnut.com/l/_YmwXN11MVsHT
https://dl.doubtnut.com/l/_KpPWrrgkAUqa
https://dl.doubtnut.com/l/_KPvtLVcMhbdm

2.The contrapositive of "if x > y then 3x > 3y" is .....

o Watch Video Solution

3.Converse of p = qis ......

o Watch Video Solution

4.The contrapositive of p = qiis ......

o Watch Video Solution

5-(pand q) = ...ccovvninnn..

o Watch Video Solution

6.p V qis false if....


https://dl.doubtnut.com/l/_OFPEW6OUqIRO
https://dl.doubtnut.com/l/_JH7QGyts8zSA
https://dl.doubtnut.com/l/_BiSYgzPrAWsT
https://dl.doubtnut.com/l/_adTGh2ekyMno
https://dl.doubtnut.com/l/_zAdpMS1TjXWe

° Watch Video Solution

7.1f Negation of p then q has symbolic from

° Watch Video Solution

° Watch Video Solution

9. The symbolic from of negation porqis.. ...

° Watch Video Solution

10.p and q are given statements then contra positive of p VV ~(p = ~q) is

------

° View Text Solution



https://dl.doubtnut.com/l/_zAdpMS1TjXWe
https://dl.doubtnut.com/l/_iNMlxGAmHB6F
https://dl.doubtnut.com/l/_1WdcX1bNOIty
https://dl.doubtnut.com/l/_F2fy0p2MKr1c
https://dl.doubtnut.com/l/_1kbm0tc2YR8w

1. -p = -~qis false when.....

° Watch Video Solution

12. .......of the following is logically equivalent statement of ~(-p = q)

° Watch Video Solution

13. contrapositive of (p V q) = r

° Watch Video Solution

14. 1t is not true that 'Ram is claver OR Ram is bold. Then logical from of

these statement is ... .

° Watch Video Solution



https://dl.doubtnut.com/l/_1kbm0tc2YR8w
https://dl.doubtnut.com/l/_VlfRSEm4nV3E
https://dl.doubtnut.com/l/_j5GuJxd470I6
https://dl.doubtnut.com/l/_7l7M6qClL5NE
https://dl.doubtnut.com/l/_hC9XNFEJoPnd
https://dl.doubtnut.com/l/_0EixfcuYJNFv

15. The negation of the statement "3 is odd or 3 is prime" is ...

° Watch Video Solution

16. The contrapositive of "if x > y then 3x > 3y" is .....

° Watch Video Solution

17.Converse of p = qiis .......

° Watch Video Solution

18. The contrapositive of p = qiis ......

° Watch Video Solution

19.~(pand q) = ..ot



https://dl.doubtnut.com/l/_0EixfcuYJNFv
https://dl.doubtnut.com/l/_6SxVEHq6wjAh
https://dl.doubtnut.com/l/_AGS0PmzVqTTn
https://dl.doubtnut.com/l/_1vFRNirvD4rT
https://dl.doubtnut.com/l/_5ExXtEJYAPFW

| ° Watch Video Solution

20.p V qis false if....

° Watch Video Solution

21. If Negation of p then q has symbolic from

° Watch Video Solution

22.-[p or (~q)] = ...

° Watch Video Solution

23.The symbolic from of negationporq s . ....

° Watch Video Solution



https://dl.doubtnut.com/l/_5ExXtEJYAPFW
https://dl.doubtnut.com/l/_2FtUgv7KVK84
https://dl.doubtnut.com/l/_9HxtyFfEPMa4
https://dl.doubtnut.com/l/_AHOJq5caEXhs
https://dl.doubtnut.com/l/_37pOzZyXecTe
https://dl.doubtnut.com/l/_g3km0HQMK3IA

24.p and q are given statements then contra positive of p V ~(p = ~q) is

------

° View Text Solution

25. -p = -~qis false when.....

° Watch Video Solution

26.~(~p = q) has .... expression logically equal .

° Watch Video Solution

27. contrapositive of (p V q) = r

° Watch Video Solution



https://dl.doubtnut.com/l/_g3km0HQMK3IA
https://dl.doubtnut.com/l/_QgXCp6wIPAJi
https://dl.doubtnut.com/l/_KfU5OzfkURus
https://dl.doubtnut.com/l/_WtKDgiyAT7Et

28. It is not true that 'Ram is claver OR Ram is bold. Then logical from of

these statement is ....... .

o Watch Video Solution

Mathematical Reasoning True False Statement

1. Please go out side is statement .

° Watch Video Solution

2.In following statement 'OR' is used in inclusive sense. "Roses are yellow

or pink "

° Watch Video Solution

3. There exists some positive integer x such that \/z € R.



https://dl.doubtnut.com/l/_R1bq6aEhkCjh
https://dl.doubtnut.com/l/_WAiffa5kRaxi
https://dl.doubtnut.com/l/_1383Fb19vDkO
https://dl.doubtnut.com/l/_L5IsZSrHl63z

| ° Watch Video Solution

4.1f nis odd then n? is odd ' compound statement is false .

° Watch Video Solution

5.1f 'p then q' has its converse 'q then p'.

° Watch Video Solution

6. Logical from of p and negation qisp V (~q) .

° Watch Video Solution

7.Please go out side is statement .

° Watch Video Solution



https://dl.doubtnut.com/l/_L5IsZSrHl63z
https://dl.doubtnut.com/l/_i1FY1iRh8dGV
https://dl.doubtnut.com/l/_h3sUSRnTs95s
https://dl.doubtnut.com/l/_jlzP5DYHTyap
https://dl.doubtnut.com/l/_iWY6VMocNmBx
https://dl.doubtnut.com/l/_Gri37Ce2b6j4

8.In following statement 'OR' is used in inclusive sense. "Roses are yellow

or pink "

° Watch Video Solution

9. There exists some positive integer x such that \/z € R.

° Watch Video Solution

10.1f n is odd then n? is odd ' compound statement is false .

° Watch Video Solution

1.1f 'p then q' has its converse 'q then p'.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gri37Ce2b6j4
https://dl.doubtnut.com/l/_j9WhDU5R2S5H
https://dl.doubtnut.com/l/_aMacfsWGh8Yq
https://dl.doubtnut.com/l/_KMft3evCSHLs

12. Logical from of p and negation qis p V (-~q) .

° Watch Video Solution

Statistics Fill In The Blanks

1. Median of nine observations is 2045 . If 2 is added in last four

observations, then new median is

° Watch Video Solution

2. Suppose in group A, 100 observations are 101, .... 200 and in group B

has observations 151,152, ... 250. If V4 and Vg are variance of there

. Va
groups respectively then T T

B

° Watch Video Solution



https://dl.doubtnut.com/l/_9aX6VGXales1
https://dl.doubtnut.com/l/_LX15UpAanTy5
https://dl.doubtnut.com/l/_yge7Dw5a1EMD

sz + 7 then the

3. If the standard deviation of variable x is 4 and y =

standard deviation of variable y is

° Watch Video Solution

4.The variance of observations 3,4,5,8 is

° Watch Video Solution

5. The mean of 100 observations is 50 and their standard deviation is 5.

The sum of all squares of all the observations is ...

° Watch Video Solution

6. Let a,b,c,d,e be the observations with mean m and standard deviation S.

The standard deviation of the observation a + k, b+ k, c+ k, d+k, e+k is ......

° Watch Video Solution



https://dl.doubtnut.com/l/_OxTj74Kajb9E
https://dl.doubtnut.com/l/_LbhmnOedTVWY
https://dl.doubtnut.com/l/_WSmPoC4DaB2a
https://dl.doubtnut.com/l/_VHGk6hRavxzi

7. SD. of the observation =z, xs, x3.....2, is 3.5 then S.D. of

—2SE1—3, —2172—3, ......... —2CL'n—3iS ............

o Watch Video Solution

8. Median of the data 9,15,20,22,8,17,10,18,14,25 is .....

o Watch Video Solution

9. Find x if the median of the observation 33,28,20,25,34 and x is 29.

o Watch Video Solution

10. Median of nine observations is 2045 . If 2 is added in last four

observations, then new median is

o Watch Video Solution



https://dl.doubtnut.com/l/_VHGk6hRavxzi
https://dl.doubtnut.com/l/_A1PnxYY0cXQP
https://dl.doubtnut.com/l/_9t7cCHqnBpOz
https://dl.doubtnut.com/l/_swmZ0SdGwzFk
https://dl.doubtnut.com/l/_LetDdJnEx4zG

11. Suppose in group A, 100 observations are 101, .... 200 and in group B
has observations 151,152, ... 250. If V4 and Vg are variance of there

: Vy
groups respectively then — = ...
Vi

° Watch Video Solution

3z + 7
4

12. If the standard deviation of variable x is 4 and y = then the

standard deviation of variable y is

° Watch Video Solution

13. The variance of observations 3,4,5,8 is

° Watch Video Solution

14. The mean of 100 observations is 50 and their standard deviation is 5.

The sum of all squares of all the observations is ...


https://dl.doubtnut.com/l/_LetDdJnEx4zG
https://dl.doubtnut.com/l/_dUQAt4bn4ecR
https://dl.doubtnut.com/l/_0Qsdy5EkabKX
https://dl.doubtnut.com/l/_tXtJ6gjyfziR
https://dl.doubtnut.com/l/_cA0jdpChUWQc

° Watch Video Solution

15. Let a,b,c,d,e be the observations with mean m and standard deviation

S. The standard deviation of the observation a + k, b+ k, c+ k, d+k, e+k is

° Watch Video Solution

16. S.D. of the observation =z, xs, x3.....2, is 3.5 then SD. of

—22131—3, —2132—3, ......... —2$n—3i5 ............

° Watch Video Solution

17. Median of the data 9,15,20,22,8,17,10,18,14,25 is .....

° Watch Video Solution



https://dl.doubtnut.com/l/_cA0jdpChUWQc
https://dl.doubtnut.com/l/_GGKEWMofmXkQ
https://dl.doubtnut.com/l/_HJnR1HFjVeVd
https://dl.doubtnut.com/l/_fKJ342YWzQmP

18. Find x if the median of the observation 33,28,20,25,34 and x is 29.

° Watch Video Solution

Statistics True False Statement

1. Marks obtained by 10 students in exam of 70 Marks are as follows.

53,46,48,50,53,53,58,60,57 and 52 Then range of data is .....

° Watch Video Solution

2.Numbers of observation of the data is n (where n is even) then median

n\th n th
will be average of (3) and (E + 1) observation.

° Watch Video Solution



https://dl.doubtnut.com/l/_pWcbSGm0ahKZ
https://dl.doubtnut.com/l/_BVFBKRi13SSF
https://dl.doubtnut.com/l/_udV00pNo3Rae

3. Median of nine observations is 2045 . If 2 is added in last four

observations, then new median is

° Watch Video Solution

4. Let a,b,c,d,e be the observations with mean m and standard deviation S.

The standard deviation of the observation a + k, b+ k, c+ k, d+k, e+k is ......

° Watch Video Solution

5. Mean is the measure of dispersion.

° Watch Video Solution

6. Co-efficient of variance of one data is 45% and mean is 12 then S.D. is

54

° Watch Video Solution



https://dl.doubtnut.com/l/_xigV08bh0ZY9
https://dl.doubtnut.com/l/_wpdPuqy0yUgd
https://dl.doubtnut.com/l/_M0rne7Te0LrJ
https://dl.doubtnut.com/l/_pIWtG7t2reFF

7.2, To, T3, .... Ty then (1 — Z) + (23 — Z) + (z, — ) = 0.

o Watch Video Solution

8. For an data if n = 10, Zml = 40, me = 250 then standard

deviation s = ...

o Watch Video Solution

9. variance of 6 observation is 250 then Z (z; — %)* = 1200.

o Watch Video Solution

10. a,b,c and d are 4 observations . Their mean and median is zero then b

=-C.

o Watch Video Solution



https://dl.doubtnut.com/l/_pIWtG7t2reFF
https://dl.doubtnut.com/l/_7pq7eofJIlcS
https://dl.doubtnut.com/l/_kF9xNPAq14dT
https://dl.doubtnut.com/l/_FnOXJuPvkM9o
https://dl.doubtnut.com/l/_XhTtIG1jnuef

11. Marks obtained by 10 students in exam of 70 Marks are as follows.

53,46,48,50,53,53,58,60,57 and 52 Then range of data is .....

° Watch Video Solution

12. Numbers of observation of the data is n (where n is even) then median

n\th n th
will be average of <E) and (E + 1) observation.

° Watch Video Solution

13. Median of nine observations is 2045 . If 2 is added in last four

observations, then new median is

° Watch Video Solution

14. Let a,b,c,d,e be the observations with mean m and standard deviation

S. The standard deviation of the observation a + k, b+ k, c+ k, d+k, e+k is


https://dl.doubtnut.com/l/_XhTtIG1jnuef
https://dl.doubtnut.com/l/_JReKDAOmUrjb
https://dl.doubtnut.com/l/_9b6ItxxOFtBH
https://dl.doubtnut.com/l/_80awphxv5IY6
https://dl.doubtnut.com/l/_CYFvxY0NEvNe

° Watch Video Solution

15. Mean is the measure of dispersion.

° Watch Video Solution

16. Co-efficient of variance of one data is 45% and mean is 12 then S.D. is

54

° Watch Video Solution

7.2y, o, T3, .... T, then (; — Z) + (2o — Z) + (z, — Z) = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_CYFvxY0NEvNe
https://dl.doubtnut.com/l/_H9o3CWkZjz7d
https://dl.doubtnut.com/l/_FuhVppKBH7E7
https://dl.doubtnut.com/l/_UZKyiWvmppyq

18. For an data if n = 10, Zml = 40, me = 250 then standard

deviation s = ...

o Watch Video Solution

19. variance of 6 observation is 250 then Z (z; — 53)2 = 1200.

o Watch Video Solution

20.a,b,c and d are 4 observations . Their mean and median is zero then b

=-C.

o Watch Video Solution

Probability Fill In The Blanks



https://dl.doubtnut.com/l/_udhLFauCaIXj
https://dl.doubtnut.com/l/_OVFSAQ2BGx0j
https://dl.doubtnut.com/l/_ukEJ7cpw6Yw4

1. A and B are mutually exclusive events. P(A)=0.38, then

P(ANB) = .......

° Watch Video Solution

3 1
2. A and B are mutually exclusive events and P(A) = 5 P(B) = 3

then PIAORB) =.....

° Watch Video Solution

3. A coin and dice are tossed . Then .... Is the probability that coin shows

head and dice shows number 6.

° Watch Video Solution

4. Suppose AB,C mutually exclusive and exhaustive . If P(A) = 0.25, P (B) =

0.63,P(c) =0.20 then Pis ...

| e |


https://dl.doubtnut.com/l/_U7gsNKtm6LQa
https://dl.doubtnut.com/l/_qCfHuXyxXLOg
https://dl.doubtnut.com/l/_B7zHBUqUgbcD
https://dl.doubtnut.com/l/_T6T71sZ4xrTB

l & Watch Video Solution J

5. A single letter is selected at random from the word 'PROBABILITY'. The

probability that it is a vowel is

° Watch Video Solution

6. 0One number is selected from first 120 natural number .then probability

of an event that selected number is multiple of 50r 15 is ...

° Watch Video Solution

7.Event G and C denotes that student is intelligent and fond of chocolate

IfP(G) =06 ,P(C) =07 ,P(GN C) = 0.4, then P(G' NC’) =....

° Watch Video Solution



https://dl.doubtnut.com/l/_T6T71sZ4xrTB
https://dl.doubtnut.com/l/_pQwA2Vtygvc0
https://dl.doubtnut.com/l/_61DJVXrsJePe
https://dl.doubtnut.com/l/_bApuS1IexQFe

8. Two dice are thrown together. The probability that the sum of the

numbers obtained on both the dice is prime is ....

° Watch Video Solution

9. What is the probability that in a leap year chosen at random will

contain 53 Sunday?

° Watch Video Solution

10. A, B and C are mutually exclusive and exhaustive events. If

%P(C) _ %P(A) = P(B), then p(B) = ....

° Watch Video Solution

11.In a relay race there are five teams A, B, C, D and E.

(a) What is the probability that A, B and C finish first, second and third,


https://dl.doubtnut.com/l/_NQqry8PwOViS
https://dl.doubtnut.com/l/_0nJg7FHamHkZ
https://dl.doubtnut.com/l/_Ti8KK0obBg6I
https://dl.doubtnut.com/l/_uevIkKWRJrG4

respectively.

° Watch Video Solution

12. A card is drawn at random from pack of 52 playing cards. Find the

probability of getting (i) a face card (ii) red card.

° Watch Video Solution

13. If P(A) = 068 and A and B are mutually exclusive events then

P(ANB')=...

° Watch Video Solution

3 1
14. A and B are mutually exclusive events and P(A) = 5 P(B) = 3

then PPAORB) =.....

° Watch Video Solution



https://dl.doubtnut.com/l/_uevIkKWRJrG4
https://dl.doubtnut.com/l/_6gxd2f4pwEu6
https://dl.doubtnut.com/l/_ntP3xnWi89Fi
https://dl.doubtnut.com/l/_DhDJS7dle66u
https://dl.doubtnut.com/l/_WhHT4Ypkwaag

15. A coin and dice are tossed . Then .... Is the probability that coin shows

head and dice shows number 6.

° Watch Video Solution

16. Suppose A,B,C mutually exclusive and exhaustive . If P(A) = 0.25, P (B) =

0.63,P(c) =0.20 then Pis ...

° Watch Video Solution

17. A single letter is selected at random from the word 'PROBABILITY'. The

probability that it is a vowel is

° Watch Video Solution

18. One number is selected from first 120 natural number .then probability

of an event that selected number is multiple of 50r 15 is ...

| e |


https://dl.doubtnut.com/l/_WhHT4Ypkwaag
https://dl.doubtnut.com/l/_WlkBloXCGp3e
https://dl.doubtnut.com/l/_UiDEjlVJU1Oo
https://dl.doubtnut.com/l/_4iCPxEGoSbHZ

I & Watch Video Solution ]

19. Event G and C denotes that student is intelligent and fond of

chocolate . If P(G) = 0.6 ,P(C) =0.7 , P(G N C) = 0.4, then P(G' NC") =

.....

° Watch Video Solution

20. Two dice are thrown together. The probability that the sum of the

numbers obtained on both the dice is prime is ...

° Watch Video Solution

21. What is the probability that in a leap year chosen at random will

contain 53 Sunday?

° Watch Video Solution



https://dl.doubtnut.com/l/_4iCPxEGoSbHZ
https://dl.doubtnut.com/l/_EdUY2MDUnkqn
https://dl.doubtnut.com/l/_103wXunu0Nsq
https://dl.doubtnut.com/l/_bMR96Nj6jAyY
https://dl.doubtnut.com/l/_ovjZ9QLY5ga4

22. A, B and C are mutually exclusive and exhaustive events. If

%P(C) - %P(A) = P(B), then p(B) = ....

° Watch Video Solution

23.1n a relay race there are five teams A, B, C, D and E.
(a) What is the probability that A, B and C finish first, second and third,

respectively.

° Watch Video Solution

24.You have a single deck of well shuffled cards. Then,

What is the probability that it is a face card?

° Watch Video Solution

Probability True False Statement



https://dl.doubtnut.com/l/_ovjZ9QLY5ga4
https://dl.doubtnut.com/l/_LTuG0jf9ySUY
https://dl.doubtnut.com/l/_5Vn1nvrte96h

1. If the sample space has n € N different elements then it has exactly

n € N primary events .

o View Text Solution

2. Primary events are mutually exclusive.

o Watch Video Solution

3. Probability of impossible events is zero.

o Watch Video Solution

4.1f Ais any event of sample space S then P(A4) € [0, 1].

o Watch Video Solution



https://dl.doubtnut.com/l/_3OvD25zokIsk
https://dl.doubtnut.com/l/_8V1A3b9W4ZAF
https://dl.doubtnut.com/l/_qaQkrN5BxmiS
https://dl.doubtnut.com/l/_t0D2kf3KuBE3

5.Sum of integer obtain on two dice have sum 14 is impossible event.

o Watch Video Solution

6. If the sample space has n € N different elements then it has exactly

n € N primary events .

o View Text Solution

7. Primary events are mutually exclusive.

o Watch Video Solution

8. Probability of impossible events is zero.

o Watch Video Solution



https://dl.doubtnut.com/l/_LSC60KvJyxfG
https://dl.doubtnut.com/l/_vYD9Bwg4hcYO
https://dl.doubtnut.com/l/_CWKZPxP0lj8N
https://dl.doubtnut.com/l/_65QCbBLHnW9n

9.1f Ais any event of sample space S then P(A) € [0, 1].

o Watch Video Solution

10. Sum of integer obtain on two dice have sum 14 is impossible event.

o Watch Video Solution



https://dl.doubtnut.com/l/_aAeNOIZeKgIl
https://dl.doubtnut.com/l/_sRwSnYPNU8sT

